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5. � GU< 74>?NG45FEO =5>5E>4<<>EFL ?<F5=7<D>64=<O FD4=E?>DF=OE GE?G7?
6. �4=F5 E4D4>F5D<EF<>G >E=>6=OE 6<4>6 FD4=E?>DF4 < <E ?>>474F5?<?
7. �4=F5 E4D4>F5D<EF<>G 65?57=>4>D>6=><G FD4=E?>DFG?
8. �4=F5 E4D4>F5D<EF<>G 6>4=><G (D5G=><G, <>DE>><G) FD4=E?>DFG?
9. �4=F5 E4D4>F5D<EF<>G 46F><>5<?L=><G FD4=E?>DFG?
10. �4=F5 E4D4>F5D<EF<>G 6>74GL=><G FD4=E?>DFG?
11. �4=F5 E4D4>F5D<EF<>G FDG5>?D>6>4=><G FD4=E?>DFG?
12. �4><5 ?OFL >E=>6=OE ?>>474F5?5= FD4=E?>DF4?
13. ->E??G4F4F<>==O5 ?>>474F5?< 6>4=OE EG4>6?
14. ->E??G4F4F<>==O5 ?>>474F5?< 65?57=>4>D>6=>7> E>EF464?
15. ->E??G4F4F<>==O5 ?>>474F5?< 46F><>5<?L=>7> E>EF464?
16. 'F> F4>>5 E?<E>G=O= <?< <4D>G=O= ?4D> ?>46<6=>7> E>EF464?
17. �E>55==>EF< 65?57=>4>D>6=>7> FD4=E?>DF4?
18. �E>55==>EF< 46F><>5<?L=>7> FD4=E?>DF4?
19. �E>55==>EF< <>DE>>7> FD4=E?>DF4?
20. �E>55==>EF< D5G=>7> FD4=E?>DF4?
21. �E>55==>EF< 6>74GL=>7> FD4=E?>DF4?
22. �E>55==>EF< FDG5>?D>6>4=>7> FD4=E?>DF4?



$545D4?L=>5 7>EG44DEF65==>5 5N465F=>5 >5D47>64F5?L=>5 GGD5645=<5 
6OEL57> >5D47>64=<O

“'?LO=>6E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F <<. �.�. %F>?O?<=4=

$47D45>FG<>: 4>F5=F  >4D54DO -�� < &� %4?4EGF4<=>6 �.$. 

�4D54D4 «->E??G4F4F<< �� < &�»
�D74=<74F<O 46F><>5<?L=OE ?5D56>7>> <

557>?4E=>EFL 46<65=<O

�5>F<O  72
$>D<<D>64=<5 ?>>474F5?5= D45>FO

46F><>5<?L=>7> FD4=E?>DF4



�5>F<O 2. $>D<<D>64=<5 ?>>474F5?5= D45>FO 46F><>5<?L=>7> FD4=E?>DF4
�==>F4F<O. � 44==>< D4745?5 D4E>DO64NFEO 6>?D>EO D>D<<D>64=<O ?>>474F5?5= D45>FO

46F><>5<?L=>7> FD4=E?>DF4, FD4=E?>DF=>7> ?D>F5EE4 < 57> M?5<5=F>6, 4 F4> 65 ?D<6>4OFEO >?4EE<D<>4F<O
?D>5574 < 6D5<O D45>FO ?>46<6=>7> E>EF464.

�?NG56O5 E?>64. &D4=E?>DF=O= ?D>F5EE, ?>7DG7>4 �%, ?5D5<5M5=<5 7DG74, D477DG7>4 �%.

�5F>4<G5E><5 D5>><5=44F<< ?> <7GG5=<N F5<O. �7GG<FL F5>D5F<G5E>GN G4EFL E >?D545?5=<O<< <
>E=>6=O<< ?>=OF<O<<. �F65F<FL =4 6>?D>EO 4?O E4<>>>=FD>?O, <7GG<FL < GE6><FL 7?>EE4D<=, D47>5D4FL
E?<E>> E>>D4M5=<= ?D<654U==O= 6 ?5>F<<. �>?D>EO 6>7=<>L<5 ?D< <7GG5=<< 44==>= F5<O <>6=> 5>?55
?>4D>5=> D4EE<>FD5FL 6 ?5D6><EF>G=<>4E <E?>?L7>64==OE <=D>D<4F<>==OE D5EGDE4E.

&5<4F<>4 74=OF<O
2.1 &D4=E?>DF=O= ?D>F5EE < 57> M?5<5=FO.
2.2 �>>474F5?< D45>FO 46F><>5<?L=>7> FD4=E?>DF4.
2.3 �D>557 ?>46<6=>7> E>EF464 < 57> <E?>?L7>64=<5.
2.4 �D5<O D45>FO ?>46<6=>7> E>EF464.
2.5 %>>D>EF< 46<65=<O 46F><>5<?O.
2.6 �DG7>?>4NU<=>EFL ?>46<6=>7> E>EF464.

�?>EE4D<= > ?5>F<< 72.
�D><76>4<F5?L=>EFL �% — MF> G<E?> ?4EE46<D>6 <?< >>?<G5EF6> 7DG74, ?5D56>7<<>5 6 54<=<FG 6D5<5=<.

�D><76>4<F5?L=O= ?D>557 - ?D>557 E 7DG7><.

�G?56>= ?D>557 – MF> ?D>557 46F><>5<?O >F <5EF4 ED4=5=<O 4> <5EF4 ?5D6>= ?>7DG7><.

%>>D>EFL E>>5M5=<O - ED54=NO E>>D>EFL 4>EF46>< ?4EE46<D>6.

%?<E>> E>>D4M5=<=.
��� — >>MDD<F<5=F <E?>?L7>64=<O ?D>5574;
�&� — >>MDD<F<5=F F5E=<G5E>>= 7>F>6=>EF<;
��� — >>MDD<F<5=F>< <E?>?L7>64=<O 7DG7>?>4N5<=>EF<;
�� — 46F>45=L.



2.1. &D4=E?>DF=O= ?D>F5EE < 57> M?5<5=FO.
&D4=E?>DF=O= ?D>F5EE — MF> ?5D5<5M5=<5 7DG7>6 <?< ?4EE46<D>6 =4 >4>>5 ?<5> D4EEF>O=<5, E

GG5F>< 6E5E ?>47>F>6<F5?L=OE < 74>?NG<F5?L=OE >?5D4F<=.

&D4=E?>DF=O= ?D>F5EE ?5D56>7>< 7DG7>6 E>?44O645FEO <7 FDUE >E=>6=OE M?5<5=F>6: -?>7DG7>4 �%; -

?5D5<5M5=<5 7DG74; -D477DG7>4 �% < ?>44G4 �% > E?54GNM5<G <5EFG ?>7DG7><;

�>7DG7>4 6>?NG45F 6 E55O ?>44GG FD4=E?>DF=OE ED54EF6 > =G6=><G <5EFG, >D74=<74F<N DD>=F4 D45>F,
=4>>??5=<5, D>D<<D>64=<5 < E>DF<D>6>G 7DG74, >D>D<?5=<5 4>>G<5=F>6, E>?D>6>644NM<E ?5D56>7>G.

�6<65=<5 O6?O5FEO >E=>6=>= DG=>F<5= FD4=E?>DF4. 'E?>6=<6L55EO 46<65=<5 FD4=E?>DF=>7> ?>F>>4
FD55G5F 5>?LL57> 6=<<4=<O < >F E>EF46<F5?5= <4DLDGF>6, < >F 6>4<F5?5= 4?O 74D4=F<D>64==>=
557>?4E=>EF< ?5D56>7>< 7DG7>6 <?< ?4EE46<D>6 < E>>D4M5=<O 6D5<5=< 6 ?GF<.

$477DG7>4 — MF> ?>44G4 FD4=E?>DF=>7> ED54EF64 6 7>=G D45>F, D4ED>D<<D>64=<5 < E>DF<D>6>4 7DG74,
>D>D<?5=<5 4>>G<5=F>6 =4 ?D<5O6L<= 7DG7.

�D< >EGM5EF6?5=<< ?5D56>7>> M?5<5=FO FD4=E?>DF=>7> ?D>F5EE4 4?O >464>= 54<=<FO ?>46<6=>7>
E>EF464 ?>EF>O==> ?>6F>DONFEO. �><??5>E FD5E M?5<5=F>6 FD4=E?>DF=>7> ?D>F5EE4 >F >4=>= ?>7DG7>< 7DG74
=4 >464GN 54<=<FG ?>46<6=>7> E>EF464 4> E?54GNM5= ?>7DG7>< =47O645FEO F<>?>< ?5D56>7>< <?< 574>>=.

&>744 6D5<O 6O?>?=5=<O >4=>= 574><:

te = t? + t46 + tD = L5 / VT + t?-D ,

745 t? — 6D5<O ?>7DG7><; t46 — 6D5<O 46<65=<O 6 ?DO<>< < >5D4F=>< =4?D46?5=<<; tp — 6D5<O
D477DG7><; L5 — 4?<=4 574><; VT — F5E=<G5E>4O E>>D>EFL 46<65=<O; t?-D — 6D5<O ?>7DG7>< < D477DG7><.

�D><56GF>G=O5 74574O 4?O G4EF<G=>= 4>7DG7>< <?< D477DG7>< =5 ?D5DO645F F<>?4 ?5D56>7><. �4644O
=>64O 574>4 =4G<=45FEO E <><5=F4 ?>44G< ?>D>6=57> �% ?>4 747DG7>G. �>44G4 �% >F <5EF4 EF>O=>< < 6>76D4F
?>E?5 ?>E?54=57> ?G=>F4 D477DG7>< >F=>E<FEO =5 > >F45?L=><G F<>?G ?5D56>7>>, 4 > D45>F5 �% 74 45=L 6
F5?>< < =47O645FEO =G?56O< ?D>557><.

%>6>>G?=>EFL M?5<5=F>6 >4=>7> <?< =5E>>?L><E F<>?>6 ?5D56>7>< E <><5=F4 ?>44G< ?>D>6=57> �% 6
?G=>F ?>7DG7>< 4> >G5D54=>7> 6>76D4F4 6 MF>F 65 ?G=>F >5D47G5F >5>D>F 46F><>5<?O.

&D4=E?>DF=O= ?D>F5EE ?5D56>7>< ?4EE46<D>6 6>?NG45F 6 E55O ?><<<> =5?>ED54EF65==> ?5D56>7><
?4EE46<D>6 ?D>446G 5<?5F>6, ?>44GG �%, EF>O=>G �% =4 >>=5G=OE ?G=>F4E <4DLDGF4, ?>E44>G < 6OE44>G
?4EE46<D>6 < >5E?G6<64=<5 ?4EE46<D>6 6 ?GF<. %>6>>G?=>EFL >?5D4F<= FD4=E?>DF=>7> ?D>F5EE4 ?D<
46<65=<< 46F>5GE4 >F =4G4?L=>7> 4> >>=5G=>7> ?G=>F4 <4DLDGF4 =47O645FEO D5=E><.



2.2. �>>474F5?< D45>FO 46F><>5<?L=>7> FD4=E?>DF4.
�?O ??4=<D>64=<O, GG5F4 < 4=4?<74 D45>FO �% GEF4=>6?5=4 E<EF5<4 F5E=<>>-M>E??G4F4F<>==OE

?>>474F5?5=, ?>76>?ONM<E >F5=<64FL MDD5>F<6=>EFL <E?>?L7>64=<O �&% < D57G?LF4FO <E D45>FO.

�>>474F5?O<<, E4D4>F5D<7GNM<<< EF5?5=L <E?>?L7>64=<O ?>46<6=>7> E>EF464, O6?ONFEO:

³F — >>MDD<F<5=F F5E=<G5E>>= 7>F>6=>EF< ?>46<6=>7> E>EF464;

³6 — >>MDD<F<5=F 6O?GE>4 ?>46<6=>7> E>EF464 =4 ?<=<N;

³ — >>MDD<F<5=F <E?>?L7>64=<O 7DG7>?>4N5<=>EF<;

³ — >>MDD<F<5=F <E?>?L7>64=<O ?D>5574;

l�� — ED54=OO 4?<=4 574><; ><;

l�$ — ED54=55 D4EEF>O=<5 ?5D56>7>< 7DG74, ><;

tn -p — 6D5<O ?D>EF>O ?>46<6=>7> E>EF464 ?>4 ?>7DG7>>=-D477DG7>>=, G;

&= — 6D5<O 6 =4DO45, G;

V& — F5E=<G5E>4O E>>D>EFL 46<65=<O, ></G;

VM — M>E??G4F4F<>==4O E>>D>EFL, ></G.

�>>474F5?O<<, E4D4>F5D<7GNM<<< D57G?LF4FO D45>FO ?>46<6=>7> E>EF464, O6?ONFEO:

n5 — G<E?> 574>>;

L�$ — ?D>557 E 7DG7><, ><;

Lo5 — >5M<= ?D>557, ><;

U — ?D><76>4<F5?L=>EFL ?>46<6=>7> E>EF464 — 6OD45>F>4 6 F>==4E, F;

W — ?D><76>4<F5?L=>EFL ?>46<6=>7> E>EF464 — 6OD45>F>4 6 F>==>-><?><5FD4E, F > < ;

Q — >5N5< ?5D56>7>> 6 F>==4E, F;

$ — 7DG7>>5>D>F 6 F>==>-><?><5FD4E, F-><.

%?<E>G=O< ?4D>>< �&� =47O645FEO 65EL �%, G<E?OM<=EO =4 54?4=E5 >D74=<74F<<:

�%� = �& + �$,

745 �& — G<E?> �&%, 7>F>6OE > M>E??G4F4F<<;

�$ — G<E?> �&%, =4E>4OM<EEO 6 D5<>=F5 <?< F5E=<G5E>>< >5E?G6<64=<<.

'<E?> �&%, 7>F>6OE > M>E??G4F4F<<:

�& = �- + ��$,

745 �- — G<E?> �&%, =4E>4OM<EEO 6 M>E??G4F4F<< (=4 ?<=<<);
��$ — G<E?> �&%, =4E>4OM<EEO 6 ?D>EF>5 ?> >D74=<74F<>==O< ?D<G<=4< (<7-74 >FEGFEF6<O D45>FO,

F>??<64, 6>4<F5?5= < ?> 4DG7<< >D74=<74F<>==O< ?D<G<=4<).



�?O GG5F4 <E?>?L7>64=<O ?4D>4 ?>46<6=>7> E>EF464 74 >?D545?5==O= ?5D<>4 6D5<5=< <E?>?L7GNF
?>>474F5?L «46F>-45=L» — ��:

��%� — 46F>-4=< E?<E>G=O5;

��& — 46F>-4=< F5E=<G5E>< <E?D46=>7> ?4D>4 (7>F>6>7> > M>E??G4F4F<<);
��- — 46F>-4=< ?4D>4, =4E>4OM57>EO 6 M>E??G4F4F<<;

���� — 46F>-4=< ?D>EF>O ?> >D74=<74F<>==O< ?D<G<=4< 7>F>6>7> > M>E??G4F4F<< ?>46<6=>7>
E>EF464;

��$ — 46F>-4=< ?D>EF>O ?>46<6=>7> E>EF464 6 D5<>=F5, F5E=<G5E>>< >5E?G6<64=<< < >6<44=<<
D5<>=F4.

�> 4=4?>7<< E D>D<G?4<< :

��%� = ��& +��$;

��& = ��- + ����;

��%� = ��- +���� +��$.

�D<<5D: 5E?< 6 F5G5=<< 5 4=5= 6 �&�:20 4/< D45>F4?< =4 ?<=<< 2 4/< =4E>4<?<EL 6 D5<>=F5 < 1 4/<
=4E>4<?EO 6 ?D>EF>5, F> E?<E>G=O5 46F>-4=<:

��%� = ��- +���� +��$ = 20·5+2·5+1·5 = 115 4/< 4.
-DD5>F<6=>EFL D45>FO ?4D>4 �% >F5=<64NF DO4>< >>MDD<F<5=F>6.

�>MDD<F<5=F F5E=<G5E>>= 7>F>6=>EF< >?D545?O5F 4>?N <E?D46=>7> (7>F>6>7> > M>E??G4F4F<<) �% 6
?4D>5 < E4D4>F5D<7G5F F5E=<G5E>>5 E>EF>O=<5 ?4D>4 �&%:

³& = �&/�%� ; ³& = ��&/��%�
�>MDD<F<5=F 6O?GE>4 E4D4>F5D<7G5F 4>?N ?4D>4 �%, =4E>4OM57>EO 6 M>E??G4F4F<<:

³� = �-/ �%� ; ³� = ��M/��%�



�444G4 1.
%?<E>G=>5 >>?<G5EF6> 46F><>5<?5= 6 ?4D>5 30 54. �>?<G5EF6> 4=5= 6 ?5D<>45 30 4=. �6F>-4=< ?D>EF>O ?>

>D74=<74F<>==O< ?D<G<=4< ?> ?4D>G 74 G>474==O= ?5D<>4 E>EF46<?< 20 4-4=, >>MDD<F<5=F 6O?GE>4 46F><>5<?5= =4
?<=<N D465= 0,82. �?D545?<FL >>?<G5EF6> 46F>-4=5= ?D>EF>O 6 &� < D5<>=F5.

�4=>:

�%� = 30 54., �� = 30 4=, ���� = 20 4-4=, ³�= 0,82

�?D545?<FL: ��$
$5L5=<5:

- �6F>-4=< E?<E>G=O5:

��%� = �%� · �� = 30 · 30 = 900 4-4=.

- �6F>-4=< 6 M>E??G4F4F<<:

��- = ��%� · ³� = 900 · 0,82 = 738 4-4=.

- �6F>-4=< ?D>EF>O 6 &� < D5<>=F5:

��$ = ��%� – ��- –���� = 900-738-20= 142 4-4=.

�444G4 2.
10 46F><>5<?5= �4<��-5320 6 F5G5=<5 <5EOF4 (30 4=5=) 5 4=5= ?D>EF>O?< 6 F5E=<G5E>>< >5E?G6<64=<< <

D5<>=F5 < 5M5 3 4=O — ?> >D74=<74F<>==O< ?D<G<=4<. �?D545?<FL >>MDD<F<5=F F5E=<G5E>>= 7>F>6=>EF< <
>>MDD<F<5=F 6O?GE>4 74 <5EOF.

�4=>:

�%� = 10 54, �� = 30 4= ,��$ = 50 4=, ���� = 30 4=
�?D545?<FL: ³& , ³�
$5L5=<5:

- �6F><>5<?5 4=<, 6 F5G5=<5 >>F>DOE 46F><>5<?L 5O? F5E=<G5E>< <E?D465=:

��& = ��� -��$ = 10 ·30 - 10· 5 = 2504=.

- �=<, 6 F5G5=<5 >>F>DOE 46F><>5<?L =4E>4<?EO 6 M>E??G4F4F<<:

��M =��& –���� = 250-30 = 220 4=.

-�>MDD<F<5=F F5E=<G5E>>= 7>F>6=>EF< 74 <5EOF:

³& = ��&/��%� = 250 / 30 / 10 = 0,833.

- �>MDD<F<5=F 6O?GE>4 74 <5EOF:

³6 = ��-/��%� = 220 / 30 /10 = 0,733.



2.3.�D>557 ?>46<6=>7> E>EF464 < 57> <E?>?L7>64=<5.
�4 6D5<O D45>FO =4 ?<=<< ?>46<6=>= E>EF46 ?D>E>4<F >?D545?5==O= ?GFL, >>F>DO= =47O645FEO

?D>557>< < <7<5DO5FEO 6 ><?><5FD4E. �GFL, ?D>=45==O= 74 6D5<O =4E>645=<O 46F><>5<?O =4 ?<=<<,
=47O645FEO >5M<< ?D>557>< (L>5M) ?>46<6=>7> E>EF464. �GFL, ?D>=45==O= 74 EGF><, =47O645FEO EGF>G=O<
?D>557>< (LcyF) ?>46<6=>7> E>EF464.

�G?56>= ?D>557 – MF> ?D>557, >>F>DO= =5>5E>4<<> E>65DL<FL �% 4?O ?D<5OF<O <7 �&� =4 ?5D6O=
?G=>F <4DLDGF4 < 6>76D4M5=<O ?>E?5 7465DL5=<O D45>FO =4 ?<=<N 6 �&�.

�5M<= ?D>557, E>65DL45<O= 46F><>5<?5<, ?>4D4745?O5FEO =4 ?D><76>4<F5?L=O= <
=5?D><76>4<F5?L=O=.

�D>557< >?4EE<D<F<DGNFEO =4:

$<EG=>> – �<4O ?D>5574 ?>46<6=>7> E>EF464
�?O ?>6OL5=<O MDD5>F<6=>EF< M>E??G4F4F<< �% =5>5E>4<<> EFD5<<FLEO > E=<65=<N

=5?D><76>4<F5?L=>7> ?D>5574 (557 7DG74 <?< ?4EE46<D>6).
�5M<= ?D>557 ?>46<6=>7> E>EF464 6 ><?><5FD4E 74 45=L (E<5=G) 5G45F E>?44O64FLEO <7 7DG65=>7>

?D>5574, E>?>EF>7> < =G?56>7>:

L>5M = LEGF = L7D + Lx + L=
745 L7D — 7DG65=O= ?D>557 74 45=L (E<5=G);

Lx — E>?>EF>= ?D>557 74 45=L (E<5=G);
L= — =G?56>= ?D>557 74 45=L (E<5=G).

�5M<= ?D>557 ?>46<6=>7> E>EF464 74 >4=G 574>G 6 ><?><5FD4E:

l5 =l57+lE,

745 l57 — ?D>557 E 7DG7><, ><;

lE — E>?>EF>= ?D>557, ><.



�E?>?L7>64=<5 ?D>5574 �% E4D4>F5D<7G5FEO >>MDD<F<5=F>< <E?>?L7>64=<O ?D>5574. �= >?D545?O5F
4>?N 7DG6U=>7> ?D>5574 6 >5M5< ?D>5575 �% < D4EEG<FO645FEO >F=>L5=<5< ?D>5574 E 7DG7>< > >5M5<G
?D>557G 74 44==O= ?5D<>4.

³ = L7D /Lo5 ,

745 L7D — ?D>557 E 7DG7><(?D><76>4<F5?L=O=) �&%;

Lo5 — >5M<= ?D>557 �&%.

�D><76>4<F5?L=O< 4?O 7DG7>6OE �&% O6?O5FEO ?D>557 E 7DG7>< (7DG65=O=), 4?O ?4EE46<DE><E
<4DLDGF=OE ?5D56>7>> - ?D>557 =4 <4DLDGF5, 4?O 46F><>5<?5=-F4>E< - ??4F=O= ?D>557 (E ?4EE46<D4<<).

2.4.�D5<O D45>FO ?>46<6=>7> E>EF464.
� F5G5=<< D45>G57> 4=O >464O= 46F><>5<?L =4E>4<FEO 6 =4DO45 (6 D45>F5 =4 ?<=<<)
�D5<O ?D55O64=<O �&% 6 =4DO45:

& = &� + t�
745 &� - 6D5<O D45>FO =4 <4DLDGF5;

tH — 6D5<O =4 6O?>?=5=<5 =G?56>7> ?D>5574.

�D5<O D45>FO =4 <4DLDGF5 >?D545?O5FEO <7 E>>F=>L5=<=:

4?O 7DG7>6OE ?5D56>7>>
&� = t46 +t?-D

745 t46 — 6D5<O 46<65=<O 6 ?DO<>< < >5D4F=>< =4?D46?5=<<;

t?-D — 6D5<O ?>7DG7>< < D477DG7><.

4?O ?4EE46<DE><E ?5D56>7>>
&� = t46+t?D

t?D - 6D5<O ?D>EF>O 46F>5GE4 =4 ?D><56GF>G=OE < >>=5G=OE >EF4=>6>G=OE ?G=>F4E.

2.5.%>>D>EF< 46<65=<O 46F><>5<?O.
&5E=<G5E>>= E>>D>EFLN V& =47O645FEO ED54=OO E>>D>EFL 46<65=<O, D46=4O >F=>L5=<N ?D>5574

46F><>5<?O > 6D5<5=< 46<65=<O, 6>?NG4O 6D5<O >D4F>>6D5<5==OE ?D>EF>56 6 ?GF<, E6O74==OE E
D57G?<D>64=<5< 46<65=<O.

&5E=<G5E>4O E>>D>EFL GG<FO645F F>?L>> 6D5<O 46<65=<O �%:

V&= Le/ te , ></G.
745 te 6D5<O 6O?>?=5=<O >4=>= 574><;

L5 — 4?<=4 574><.



->E??G4F4F<>==4O E>>D>EFL 4>?>?=<F5?L=> GG<FO645F 6D5<O ?D>EF>O �% 6 ?5D<>4 57> =4E>645=<O 6
=4DO45.

V-= Le/ te + t?D
745 te 6D5<O 6O?>?=5=<O >4=>= 574><;

L5 — 4?<=4 574><.

t?D - 6D5<O ?D>EF>O 46F>5GE4 =4 ?D><56GF>G=OE < >>=5G=OE >EF4=>6>G=OE ?G=>F4E.

%>>D>EFL E>>5M5=<O 4?O ?4EE46<DE><E ?5D56>7>>, E4D4>F5D<7G5F ED54=NN E>>D>EFL 4>EF46><
?4EE46<D>6

VE= L5/ t46+t?D.

745 t46 — 6D5<O 46<65=<O 6 ?DO<>< < >5D4F=>< =4?D46?5=<<;

t?D — 6D5<O ?D>EF>O =4 ?D><56GF>G=OE >EF4=>6>4E =4 <4DLDGF5.

� >4=<E < F5E 65 GE?>6<OE M>E??G4F4F<< E4<>5 6OE>>>5 7=4G5=<5 <<55F F5E=<G5E>4O E>>D>EFL
46<65=<O, E4<>5 =<7>>5 — M>E??G4F4F<>==4O, 4 E>>D>EFL E>>5M5=<O 74=<<45F ?D><56GF>G=>5 7=4G5=<5.

2.6.�DG7>?>4NU<=>EFL ?>46<6=>7> E>EF464.
�E?>?L7>64=<5 7DG7>?>4NU<=>EF< �% >F5=<64NF >>MDD<F<5=F>< <E?>?L7>64=<O 7DG7>?>4N5<=>EF<.

�?O 7DG7>6>7> �% ���:

³ = qD / q=
745 q$ - D4>F<G5E>4O 7DG7>?>4N5<=>EFL �%;

qn - =><<=4?L=4O 7DG7>?>4N5<=>EFL �%.

�>MDD<F<5=F =4?>?=5=<O 4?O 46F>5GE4 MF> EF5?5=L <E?>?L7>64=<O 57> 6<5EF<<>EF< >F5=<645FEO
4=4?>7<G=O< >>MDD<F<5=F><:

³ = qD / q=
745 qD - D4>F<G5E>4O ?4EE46<D>6<5EF<<>EFL �%;

qn - =><<=4?L=4O ?4EE46<D>6<5EF<<>EFL �%.

�D><76>4<F5?L=>EFL FDG44 E4D4>F5D<7G5FEO >>?<G5EF6>< ?D>4G>F<<, ?D><76>4<<>= 6 54<=<FG
6D5<5=<.

&D4=E?>DF=4O ?D>4G>F<O — MF> ?5D5<5M5=<5 ?4EE46<D>6 <?< 7DG74, E?54>64F5?L=>,
?D><76>4<F5?L=>EFL �% - MF> G<E?> ?4EE46<D>6 <?< >>?<G5EF6> 7DG74, ?5D56>7<<>5 6 54<=<FG 6D5<5=<.



�D><76>4<F5?L=>EFL 7DG7>6>7> �% >?D545?ONF 6 D<7<G5E><E 54<=<F4E <7<5D5=<O <4EEO, >5N5<4 <?<
>>?<G5EF64 7DG74, =4?D<<5D F>==4E, <3, >>=F5==5D4E, < F>==>-><?><5FD4E - W.

�4 >4=G 574>G MF< ?>>474F5?< E>EF46OF:

U5 = ³ q= (F)                             W5 = U5 l57 (F ><)
�D><76>4<F5?L=>EFL 46F>5GE4, >?D545?O5FEO G<E?>< ?5D56575==OE ?4EE46<D>6 <

?4EE46<D>><?><5FD>6.

�4 >4=G 574>G MF< ?>>474F5?< E>EF46OF:

U5 = ³ ·E< qH ,                           W5 = ³ qH lM,

745 ·E< — >>MDD<F<5=F E<5==>EF< ?4EE46<D>6, >>F>DO= >?D545?O5FEO >F=>L5=<5< >5M57> G<E?4
?5D56575==OE 74 D5=E ?4EE46<D>6 > =><<=4?L=>= 6<5EF<<>EF< 46F>5GE4.

·E< = Q>5M / qH

�D><76>4<F5?L=>EFL 46F><>5<?O-F4>E< >?D545?O5FEO 6 4>E>44E =4 1 G D45>FO. �>E>4O E>?44O64NFEO
<7 >??4G5==OE ?D>5574 < ?D>EF>O.

�>?D>EO 4?O E4<>>>=FD>?O
1. �4=F5 >?D545?5=<5 FD4=E?>DF=>7> ?D>F5EE4.

2. 'F> =47O645FEO 574>>=?
3. �?4EE<D<>4F<O ?D>5574 �%.

4. �>>474F5?< D45>FO 46F><>5<?L=>7> FD4=E?>DF4.

5. �4FL >?D545?5=<5 F5E=<G5E>>= E>>D>EF< 46<65=<O �&.



$545D4?L=>5 7>EG44DEF65==>5 5N465F=>5 >5D47>64F5?L=>5 GGD5645=<5 
6OEL57> >5D47>64=<O

“'?LO=>6E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F <<. �.�. %F>?O?<=4=

$47D45>FG<>: 4>F5=F  >4D54DO -�� < &� %4?4EGF4<=>6 �.$. 

�4D54D4 «->E??G4F4F<< �� < &�»
�D74=<74F<O 46F><>5<?L=OE ?5D56>7>> <

557>?4E=>EFL 46<65=<O

�5>F<O  73
�<4O <4DLDGF>6



�5>F<O 3. �<4O <4DLDGF>6
�==>F4F<O. � 44==>< D4745?5 EF46OFEO F5?< < 7444G< <7GG5=<O 6<4>6 <4DLDGF>6 ?5D56>7>>, <E

>?4EE<D<>4F<O < E4D4>F5D<EF<><.

�?NG56O5 E?>64. �4DLDGF 46<65=<O, <4OF=<>>6O=, >>?LF56>=, D44<4?L=O=, D476>7>G=>-E5>D>G=O=.

�5F>4<G5E><5 D5>><5=44F<< ?> <7GG5=<N F5<O. �7GG<FL F5>D5F<G5E>GN G4EFL E >?D545?5=<O<< <
>E=>6=O<< ?>=OF<O<<. �F65F<FL =4 6>?D>EO 4?O E4<>>>=FD>?O, <7GG<FL < GE6><FL 7?>EE4D<=, D47>5D4FL
E?<E>> E>>D4M5=<= ?D<654U==O= 6 ?5>F<<. �>?D>EO 6>7=<>L<5 ?D< <7GG5=<< 44==>= F5<O <>6=> 5>?55
?>4D>5=> D4EE<>FD5FL 6 ?5D6><EF>G=<>4E <E?>?L7>64==OE <=D>D<4F<>==OE D5EGDE4E.

&5<4F<>4 74=OF<O
3.1 �4OF=<>>6O5 <4DLDGFO.
3.2 �>?LF56O5 <4DLDGFO.
3.3 $476>7>G=O5, E5>D=O5 < D476>7>G=>-E5>D=O5 <4DLDGFO.
3.4 $44<4?L=O5 <4DLDGFO.
3.5 �4DLDGFO ?5D56>7>> ?4EE46<D>6.
3.6 �=F5D<>44?L=O5 < <G?LF<<>44?L=O5 ?5D56>7><.

%?<E>> E>>D4M5=<=.
�&% — 46F>FD4=E?>DF=>5 ED54EF6>;
�% — ?>46<6=>= E>EF46.

�?>EE4D<= > ?5>F<< 73.
$476>7>G=>-E5>D>G=O= <4DLDGF - <4DLDGF ?D< >>F>D>< ?D><76>4<FEO D476>7 < E5>D 7DG74 <?< ?GEF>= F4DO
G >F?D46<F5?O.

�>?LF56>= <4DLDGF - <4DLDGF ?D< >>F>D>< 46<65=<5 �&% ?D><EE>4<F ?> 74<>=GF>= FD45>F>D<< (?>
>>?LFG).
�4OF=<>>6O= <4DLDGF - <4DLDGF ?D< >>F>D>< 46<65=<5 �&% ?D><EE>4<F <7 ?G=>F4 � 6 ?G=>F � <
>5D4F=>.



�4DLDGFO – MF> FD4=E?>DF=O5 EE5<O 46<65=<O 46F><>5<?5= ?D< ?5D56>7>5 7DG7>6. % 4DG7>=
EF>D>=O, >464O= <4DLDGF – ?GFL E?54>64=<O ?>46<6=>7> E>EF464 >F =4G4?L=>7> 4> =4G4?L=>7> ?G=>F4.

�>MF><G 4?<=4 <4DLDGF4 l� E>?44O645FEO <7 D4EEF>O=<O, ?D>E>4<<>7> 46F><>5<?5< >F ?5D6>7> ?G=>F4
?>7DG7>< 4> ?>E?54=57> ?G=>F4 D477DG7><, D4E?>?>65==OE =4 44==>= FD4=E?>DF=>= EE5<5, < D4EEF>O=<O,
?D>E>4<<>7> ?D< 6>76D4M5=<< 6 ?5D6>=4G4?L=O= ?G=>F ?>7DG7><.

�5>D>F – 74>>=G5==O= F<>? 46<65=<O =4 <4DLDGF5 E 6>76D4M5=<5< 6 =4G4?L=O= ?G=>F. �?<=4
<4DLDGF4 l� – 4?<=4 MF>7> ?GF<.

�D5<O >5>D>F4 t� E>EF><F <7 6D5<5=< ?D>E>645=<O 4?<=O <4DLDGF4 (F.5. <7 6D5<5=< 46<65=<O 74
>5>D>F t��) < EG<<O 74FD4F 6D5<5=<, E6O74==OE E 6O?>?=5=<5< 7DG7>6OE >?5D4F<= 3 t��.

�D< 6O?>?=5=<< ?5D56>7>> 7DG7>6 ?><4L<==O<< >F?D46>4<< (>>744 46F><>5<?L E 7DG7>< E?54G5F 6
44D5E F>?L>> >4=>7> 7DG7>?>?GG4F5?O) D47?<G4NF <4OF=<>>6O5, >>?LF56O5 < D44<4?L=O5 EE5<O, 4 ?D<
4>EF46>5 7DG7>6 <5?><<< >F?D46>4<< – D476>7>G=O5, E5>D=O5 < D476>7>G=>-E5>D=O5 FD4=E?>DF=O5 EE5<O.

�O5>D <4DLDGF4 >?D545?O5FEO 64D<4=F>< >D74=<74F<< FD4=E?>DF=>7> ?D>F5EE4, >E>55==>EFLN
4>D>6=>= E5F< < D4E?>?>65=<5< =4 =5= ?G=>F>6 >F?D46?5=<O < =47=4G5=<O



3.1 �4OF=<>>6O5 <4DLDGFO
�4OF=<>>6O< <4DLDGF>< =47O645FEO F4>4O EE5<4 E?54>64=<O 46F><>5<?5=, >>744 46<65=<5 <564G

>>=5G=O<< ?G=>F4<< 6 ?DO<>< < >5D4F=>< =4?D46?5=<OE, >4> ?D46<?>, ?D><EE>4<F ?> >4=>= < F>= 65
FD4EE5, < <>65F <=>7>>D4F=> ?>6F>DOFLEO.

�4OF=<>>6O5 <4DLDGFO 5O64NF G5FOD5E 6<4>6:

- E >5D4F=O< =5 7DG65=O< ?D>557><;

- E >5D4F=O< 7DG65=O< ?D>557>< =5 =4 6E5< D4EEF>O=<< ?5D56>7>>;

- E 7DG65=O< ?D>557>< 6 >5><E =4?D46?5=<OE;

- E >5D4F=O< 7DG65=O< ?D>557><, => D47=>= 747DG7>>= (6 >5D4F=>< =4?D46?5=<< ?5D56>7<FEO <5=LL5
7DG74, G5< 6 ?DO<><).

�4 <4OF=<>>6>< <4DLDGF5, E >5D4F=O< =5 7DG65=O< ?D>557>< (E<. D<E. 1) 74 >464O= >5>D>F
6O?>?=O5FEO >4=4 574>4. &>744

t> = t5 = t? + t47 + t6 + t4E .                                                                   (1.1)

745 t? – 6D5<O ?D>EF>O 46F><>5<?O ?D< ?>7DG7>5; t47 – 6D5<O 46<65=<O E 7DG7><; t6 – 6D5<O ?D>EF>O ?D<
D477DG7>5; t4E – 6D5<O 46<65=<O 557 7DG74.

�E>55==>EF< <4DLDGF4:
- E4<O= ?D>EF>= 6 >D74=<74F<< <4DLDGF;

- <4DLDGF D45>FO 46F><>5<?5= ?D< >4=>EF>D>==<E 7DG7>?>F>>4E;

- <4DLDGF D45>FO E?5F<4?<7<D>64==OE FD4=E?>DF=OE ED54EF6 (E4<>E64?O, 5<FG<>6>7O, 55=7>6>7O,
<G>>6>7O, <>?>>>6>7O, ?4=5?56>7O < F.?.);

- ?>?>6<=4 ?D>5574 46F><>5<?O 74 >5>D>F ?D><EE>4<F 557 7DG74;

- E4<4O =56O7>4=4O EE5<4 D45>FO 4?O ?5D56>7G<>4, ?>F><G GF> >?<5=FO >5O74=O >??4G<64FL F>?L>>
?D>557 E 7DG7><.



� E?GG45 >D74=<74F<< ?5D56>7>> 7DG7>6 ?> EE5<5 <4OF=<>>6>7> <4DLDGF4, E >5D4F=O< 7DG65=O<
?D>557>< =5 =4 6E5< D4EEF>O=<< ?5D56>7>> (D<E. 2) 74 >464O= >5>D>F 6O?>?=O5FEO 465 574><, < ?D< MF><
?>4D47G<5645FEO, GF> 6 ?DO<>< < >5D4F=>< =4?D46?5=<OE ?5D56>7<FEO D46=>5 >>?<G5EF6> 7DG74 74 >464GN
574>G (³

1
= ³

2
).

�D>557 557 7DG74 =4 <4DLDGF5 >5>7=4G5= <=45>E>< 2, F.5. lE
2
, ?>F><G GF> MF>F ?D>557 >F=>E<FEO >

6O?>?=5==>= ?5D54 =<< 574>5 E 7DG7><. �6F><>5<?< 74 >5>D>F 46464O ?>?444NF 6 ?>7DG7>G=O5 <
D477DG7>G=O5 ?G=>FO, => 745EL <<55FEO >4<= ?G=>F, F>?L>> ?>7DG7>G=O=, – �, >4<= ?G=>F, F>?L>>
D477DG7>G=O=, – % < >4<= ?>7DG7>G=>-D477DG7>G=O= – �. �>?<G5EF6> FD4=E?>DF=>= D45>FO, >>F>D>5
6O?>?=O5FEO ?D< 4>EF46>5 7DG74 6 >5D4F=>< =4?D46?5=<<, <5=LL5, G5< 6 ?DO<><. -F4 >E>55==>EFL 4>?6=4
GG<FO64FLEO 6 44?L=5=L5< ?D< D4EG5F5 ?>FD55=>EF< 6 FD4=E?>DF=OE ED54EF64E < D5EGDE4E.

�E>55==>EF< <4DLDGF4:
- FD4=E?>DF=> >4=>D>4=O= 7DG7, F.5. 4?O ?5D56>7>< 7DG7>6 6 >5><E =4?D46?5=<OE 6>7<>6=>

<E?>?L7>64=<5 >4=<E < F5E 65 FD4=E?>DF=OE ED54EF6;

- 6D5<O >5>D>F4 ?> 44==><G <4DLDGFG =5 4>?6=> ?D56OL4FL 6D5<O 6 =4DO45;

- 6 ED46=5=<< E ?D54O4GM<< <4DLDGF><, 745EL 46F><>5<?L 5>?55 ?>?>6<=O ?D>5574 74 >5>D>F ?D>E>4<F
E 7DG7><, GF> ?D54?>GF<F5?L=55 4?O ?5D56>7G<>4;

- G4EFL ?D>5574 46F><>5<?O 74 >5>D>F ?D><EE>4<F 557 7DG74;

- MF> 5>?55 E?>6=O= 6 >D74=<74F<< <4DLDGF, G5< D4=55 D4EE<>FD5==O= <4OF=<>>6O= E >5D4F=O< =5
7DG65=O< ?D>557><.



�D< ?5D56>7>5 7DG7>6 =4 <4OF=<>>6>< <4DLDGF5, E >5D4F=O< 7DG65=O< ?D>557>< (D<E. 3) 74 >464O=
>5>D>F 6O?>?=O5FEO 465 574>< < >464O= ?G=>F <4DLDGF4 O6?O5FEO ?>7DG7>G=O< < D477DG7>G=O<. �4 6D5<O
>5>D>F4 46F><>5<?L 46464O ?>?4445F 6 ?G=>FO ?>7DG7>< < D477DG7><. �D74=<74F<O ?5D56>7>> 7DG7>6 ?>
<4OF=<>>6O< EE5<4< E >5D4F=O< ?>?=>EFLN 7DG65=O< ?D>557>< =4<5>?55 D4F<>=4?L=4, F.>. 5>?LL<=EF6>
6D5<5=< < 65EL ?D>557 =4 <4DLDGF5 <E?>?L7G5FEO 4?O ?D><76>4<F5?L=>= D45>FO.

�E>55==>EF< <4DLDGF4:
- =4<5>?55 6O7>4=O= <4DLDGF < 4?O 6>4<F5?O, < 4?O �&�;

- FD4=E?>DF=>->4=>D>4=O= 7DG7, F.5. 4?O ?5D56>7>< 7DG7>6 6 >5><E =4?D46?5=<OE 6>7<>6=>
<E?>?L7>64=<5 >4=<E < F5E 65 FD4=E?>DF=OE ED54EF6;

- 6D5<O >5>D>F4 ?> 44==><G <4DLDGFG =5 4>?6=> ?D56OL4FL 6D5<O 6 =4DO45;

- <<5NFEO E?>6=>EF< 6 >D74=<74F<< 44==>7> <4DLDGF4, ?>E>>?L>G F4> D45>F4FL E>FOF 6E5 �&� <
6>4<F5?<.

�4 <4OF=<>>6>< <4DLDGF5, E >5D4F=O< 7DG65=O<
?D>557><, => D47=>= 747DG7>>= (D<E. 4) 6 >5D4F=>< =4?D46?5=<<
?5D56>7<FEO <5=LL5 7DG74 74 >464GN 574>G, G5< 6 ?DO<><, F.5.

>>MDD<F<5=F <E?>?L7>64=<O 7DG7>?>4N5<=>EF< ?D< ?5D56>7>5
6 ?DO<>< =4?D46?5=<< ³

1
5>?LL5 >>MDD<F<5=F4 <E?>?L7>64=<O

7DG7>?>4N5<=>EF< ³
2

6 >5D4F=>< =4?D46?5=<<.

�4 F4>>< <4DLDGF5 65EL ?D>557 74 >5>D>F
?D><76>4<F5?L=O=, => 65?<G<=4 FD4=E?>DF=>= D45>FO ?>
=4?D46?5=<O< D47=4O.



�E>55==>EF< <4DLDGF4:

- <5=55 6O7>4=O= <4DLDGF ?> ED46=5=<N E ?D54O4GM5= EE5<>=;

- FD4=E?>DF=>->4=>D>4=O= 7DG7, F.5. 4?O ?5D56>7>< 7DG7>6 6 >5><E =4?D46?5=<OE 6>7<>6=>
<E?>?L7>64=<5 >4=<E < F5E 65 FD4=E?>DF=OE ED54EF6;

- 6D5<O >5>D>F4 ?> <4DLDGFG =5 4>?6=> ?D56OL4FL 6D5<O 6 =4DO45;

- 5>?55 D4E?D>EFD4=5==4O EE5<4 D45>FO FD4=E?>DF=OE ED54EF6, G5< ?D54O4GM<= <4DLDGF.
� ?D4>F<G5E>>= 45OF5?L=>EF< 46F><>5<?L=>7> FD4=E?>DF4 <4OF=<>>6O5 <4DLDGFO ?>?GG<?< L<D>>>5

D4E?D>EFD4=5=<5 ?D< ?5D56>7>4E <4EE>6OE 7DG7>6 ?><4L<==O<< >F?D46>4<<. �4=>= <7 ?D<G<= MF>7>
O6?O5FEO =4?<G<5 5>?LL>7> >>?<G5EF64 <5?><E G4EF=OE ?5D56>7G<>>6, E?45>5 <E?>?L7>64=<5 <<<
M>>=><<>>-<4F5<4F<G5E><E <5F>4>6 6 ??4=<D>64=<< <4DLDGF>6 (FD4=E?>DF=OE EE5<) 4>EF46>< 7DG7>6,
?D4>F<>4 «E4<>6O6>74». %?>6<6L55EO 6 =4EF>OM55 6D5<O ?>?>65=<5 >FD<F4F5?L=> 6?<O5F =4 E555EF><<>EFL
6O?>?=5=<O ?5D56>7>> < M>>=><<>G EFD4=O.

�>=FD>?L=O5 6>?D>EO
1. 'F> F4>>5 <4DLDGF?
2. 'F> F4>>5 >5>D>F?
3. 'F> F4>>5 <4OF=<>>6O= <4DLDGF?
4. �47>6<F5 6<4O <4OF=<>>6OE <4DLDGF>6.

5. �5D5G<E?<F5 >E>55==>EF< <4OF=<>>6>7> <4DLDGF4, E >5D4F=O< =5 7DG65=O< ?D>557><.

6. �5D5G<E?<F5 >E>55==>EF< <4OF=<>>6>7> <4DLDGF4, E >5D4F=O< 7DG65=O< ?D>557><.

7. �5D5G<E?<F5 >E>55==>EF< <4OF=<>>6>7> <4DLDGF4, E >5D4F=O< =5 7DG65=O< ?D>557>< =5 =4 6E5<
D4EEF>O=<< ?5D56>7>>.

8. �5D5G<E?<F5 >E>55==>EF< <4OF=<>>6>7> <4DLDGF4, E >5D4F=O< 7DG65=O< ?D>557><, => D47=>= 747DG7>>=.

9. �47>6<F5 >F?<G<O <4OF=<>>6>7> <4DLDGF4, E >5D4F=O< =5 7DG65=O< ?D>557>< >F 4DG7<E 6<4>6
<4OF=<>>6OE <4DLDGF>6.

10. �4>>= <7 <4OF=<>>6OE <4DLDGF>6 =4<5>?55 ?D>EF>= 6 >D74=<74F<<?
11. �4>>= <7 <4OF=<>>6OE <4DLDGF>6 E4<O= E?>6=O= 6 >D74=<74F<<?
12. �4>>= <7 <4OF=<>>6OE <4DLDGF>6 E4<O= 6O7>4=O= 4?O �&�?
13. �4>>= <7 <4OF=<>>6OE <4DLDGF>6 E4<O= 6O7>4=O= 4?O 6>4<F5?O?
14. �4>>= <7 <4OF=<>>6OE <4DLDGF>6 6O7>4=O= 4?O �&�, => <5=55 6O7>4=O= 4?O 6>4<F5?O?



3.2 �>?LF56O5 <4DLDGFO
� ?OF<45EOFO5 7>4O ?D>L?>7> 65>4 ?D<<5=5=<5 >>?LF56OE <4DLDGF>6 5O?> ?D54?>65=>, 6 F>< G<E?5

4?O F>7>, GF>5O ?>6OE<FL MDD5>F<6=>EFL <E?>?L7>64=<O FD4=E?>DF=OE ED54EF6 =4 >4=>EF>D>==<E
7DG7>?>F>>4E (?D5645 6E57> 6 4>5O64NM5= >FD4E?< < EFD><F5?LEF65). �>?LF56>= <4DLDGF ?D54EF46?O5F
E>5>= 74<>=GFO= >>=FGD, >5D47GNM<=EO ?D< 46<65=<< 46F><>5<?5= G5D57 DO4 ?>7DG7>G=OE < D477DG7>G=OE
?G=>F>6 (D<E. 5). �G=>F =4G4?4 <4DLDGF4 O6?O5FEO 57> >>=5G=O< ?G=>F><.

'E?>6<O >D74=<74F<< >>?LF56OE <4DLDGF>6:

- EG<<4D=O= ?D>557 E 7DG7>< 74 >5>D>F =4 <4DLDGF5 4>?65= 5OFL 5>?LL5 EG<<O E>?>EFOE ?D>557>6 74
F>F 65 >5>D>F;

- FD4=E?>DF=>->4=>D>4=O= 7DG7, F.5. 4?O ?5D56>7>< 7DG7>6 ?> 6E5< 765=LO< <4DLDGF4 6>7<>6=>
<E?>?L7>64=<5 >4=<E < F5E 65 FD4=E?>DF=OE ED54EF6;

- 6D5<O >5>D>F4 ?> 44==><G <4DLDGFG =5 4>?6=> ?D56OL4FL 6D5<O 6 =4DO45 46F><>5<?O;

- 7DG7O 4>?6=O 5OFL 4>EF46?5=O 6 F5G5=<5 >4=>7> 6D5<5==>7> ?5D<>44 (=4?D<<5D, 74 E<5=G).
� 746<E<<>EF< >F 674<<=>7> D4E?>?>65=<O 7DG7>6OE ?G=>F>6 < FD4=E?>DF=OE E6O75= EE5<O

<4DLDGF>6 <>7GF <<5FL D47?<G=O= 6<4 (E<. D<E. 5).



$4EE<>FD<< >5>E=>64=<5 >D74=<74F<< >>?LF56>7> <4DLDGF4 =4 ?D<<5D5. �7 ?G=>F4 � (746>4 ���) 6 ?G=>F �
(EFD><F5?L=O= >5N5>F 1) 74??4=<D>64=4 ?5D56>7>4 DG=44<5=F=OE 55F>==OE 5?>>>6, 4?O G57> 6>7<>6=>
<E?>?L7>64=<5 46F>FD4=E?>DF=>7> ED54EF64 E 5>DF>6O< >G7>6><. �7 ?G=>F4 % (><D?<G=O= 746>4) 74??4=<D>64=4
?5D56>7>4 ><D?<G4 =4 ?>44>=4E 6 ?G=>F � (EFD><F5?L=O= >5N5>F 2), 4?O G57> <E?>?L7G5FEO F4>65 46F>FD4=E?>DF=>5
ED54EF6> E 5>DF>6O< >G7>6><. $4EEF>O=<5 <564G � < � – 35 ><; <564G % < � – 38 ><. �564G ?G=>F4<< � < �, � < %
EGM5EF6GNF FD4=E?>DF=O5 E6O7<, ?D>FO65==>EFL >>F>DOE E>>F65FEF65==> 25 < 28 ><. �D5<O ?>7DG7>< D46=> 6D5<5=<
D477DG7><, <E EG<<4 E>EF46?O5F 0,5 G4E4. �D5<O 6 =4DO45 46F><>5<?O 8 G4E>6. �>D>4E><5 GE?>6<O M>E??G4F4F<<.

%D54=OO F5E=<G5E>4O E>>D>EFL D46=4 25 ></G. �D< ?5D56>7>5 74O6>> ?> <4OF=<>>6O< <4DLDGF4<, E >5D4F=O< =5
7DG65=O< ?D>557>< (D<E. 6,4) EG<<4 ?D>557>6 74 >5>D>F E>EF46<F 146 ><, <7 >>F>DOE 73 >< E>EF46<F E>?>EF>= ?D>557
(557 7DG74). %G<<4D=>5 6D5<O D45>FO E>EF46<F 146/25 + 2 ;(0,5+0,5)=7,84 G4E4.

�?O >D74=<74F<< ?5D56>7>> ?> >>?LF56><G <4DLDGFG (D<E. 6,5) =5>5E>4<<> 6O?>?=5=<5 FD55>64=<=,
<7?>65==OE 6OL5:

- ?5D6>5 FD55>64=<5 6O?>?=O5FEO, F.>. l71 + l72 > lE1 + lE2, <?< 35+38>25+28;

- FD5FL5 FD55>64=<5 6O?>?=O5FEO, F.>. 6D5<O >5>D>F4 (35+28+38+25)/25+2;(0,5+0,5) =7,04 G4E4 <5=LL5 8 G4E>6, <
<4DLDGF <>65F 5OFL <E?>?=5=.

�5M<= ?D>557 46F><>5<?O =4 >>?LF56>< <4DLDGF5 E>EF46<? 126 ><, <?< =4 20 >< <5=LL5, G5< 6 ?5D6>< E?GG45.

�D>557 E 7DG7>< =5 <7<5=<?EO, 4 E>?>EF>= ?D>557 EF4? <5=LL5, F.5. 4?O �&� < 6>4<F5?O >>?LF56>= <4DLDGF 6O7>4=55.

�>E>4O �&� < 74D??4F4 6>4<F5?O F5 65, 4 D4EE>4O �&� < D45>FO 6>4<F5?O <5=LL5.

�> <=>744 F5?5E>>5D47=4 >D74=<74F<O >>?LF56>7> <4DLDGF4, 4465 5E?< EG<<4D=O= ?D>557 E 7DG7>< 74 >5>D>F
=5E>>?L>> <5=LL5, G5< EG<<4D=O= E>?>EF>= ?D>557 74 F>F 65 >5>D>F. � MF>< E?GG45 GG<FO64NF 6E5
=5?D><76>4<F5?L=O5 ?D>557< ?> >>?LF56>= < <4OF=<>>6O< EE5<4<, 6>?NG4O =G?56O5, < 5E?< >>465FEO, GF>
EG<<4D=O= =5?D><76>4<F5?L=O= ?D>557 ?D< >>?LF56>= EE5<5 ?5D56>7>> <5=LL5, F> ?D<=<<45FEO D5L5=<5 6 ?>?L7G
>>?LF56>=.



3.3 $476>7>G=O5, E5>D=O5 < D476>7>G=>-E5>D=O5 <4DLDGFO
$476>7>G=O5, E5>D=O5 < D476>7>G=>-E5>D=O5 <4DLDGFO O6?ONFEO D47=>6<4=>EFLN >>?LF56OE

<4DLDGF>6.

$476>7>G=O< <4DLDGF>< (D<E. 7,4) =47O645FEO F4>>= >>?LF56>= <4DLDGF, =4 >>F>D>< >EGM5EF6?O5FEO
4>EF46>4 7DG7>6 ?> >>?LF56>= EE5<5 6 D477DG7>G=O5 ?G=>FO, 745 >EF46?O5FEO (6O7DG645FEO G4EFL 7DG74), F.5.

?D><EE>4<F ?>EF5?5==4O D477DG7>4 46F><>5<?O.

%5>D=O< <4DLDGF>< =47O645FEO >>?LF56>= <4DLDGF, =4 >>F>D>< >EGM5EF6?O5FEO ?>EF5?5==4O
747DG7>4 FD4=E?>DF=>7> ED54EF64 ?D< ?D>E>645=<< G5D57 DO4 ?>7DG7>G=OE ?G=>F>6 (D<E. 7,5).

$476>7>G=O5 < E5>D=O5 <4DLDGFO >D74=<7GNFEO 6 F5E E?GG4OE, >>744 65E (>5N5<) 7DG74 >F?D46?O5<>7>
(?>?GG45<>7>) ?G=>F4<< ?>7DG7>< (D477DG7><) <5=LL5 7DG7>?>4N5<=>EF< (6<5EF<<>EF<) ?>46<6=>7>
E>EF464. �E>55==> D4E?D>EFD4=5=O F4><5 <4DLDGFO ?D< 4>EF46>5 7DG7>6 6 <4747<=O <?< ?>GFO 6 ?>GF>6O5
>F45?5=<O.

�D>557 E 7DG7>< 74 >5>D>F l7> ?D54EF46?O5F E>5>= EG<<G 4?<= ?D>557>6 E 7DG7>< ?> >464><G GG4EF>G
<4DLDGF4 3l7

i
:

n

l7> = 3l7
i
, (1.2)

1

745 n – G<E?> GG4EF>>6 <4DLDGF4, =4 >>F>DOE ?5D56>7<FEO 7DG7.

�>E?5 G4>6?5F6>D5=<O ?>FD55=>EF< 7DG7>?>?GG4F5?5= D45>F4 46F><>5<?O =4 D476>7>G=>< < E5>D=><
<4DLDGF5 6 F5G5=<5 E<5=O (EGF>>), >4> ?>>474?< ?D4>F<G5E><5 =45?N45=<O, <>65F 5>?55 =5 ?D><76>4<FLEO.

�4> E?54G5F <7 EE5< D476>7>G=>7> (E5>D=>7>) <4DLDGF>6 (D<E. 7), 74 >4<= >5>D>F 6O?>?=O5FEO >4=4
574>4.



$476>7>G=>-E5>D=O< <4DLDGF>< (D<E. 8) =47O645FEO F4>4O
D47=>6<4=>EFL >>?LF56>7> <4DLDGF4, 745 ?D< 4>EF46>5 7DG7>6
>EGM5EF6?O5FEO D477DG7>4 < >4=>6D5<5==> E5>D (?>7DG7>4) 6 >4=<E < F5E
65 ?G=>F4E. �>MF><G D476>7>G=>-E5>D=O= <4DLDGF ?D54EF46?O5F E>5>=
E>6>>G?=>EFL 46GE 6OL5D4EE<>FD5==OE <4DLDGF>6.

�DG7O (D476>7<<O5 < E>5<D45<O5), >4> ?D46<?>, >55E?5G<64NF
D47=>5 <E?>?L7>64=<5 7DG7>?>4N5<=>EF<, GF> 4>?6=> GG<FO64FLEO ?D<
>?D545?5=<< 65?<G<=O FD4=E?>DF=>= D45>FO. �E>55==>EFLN D476>7>G=>-

E5>D=OE <4DLDGF>6, ?> ED46=5=<N E D476>7>G=O< (E5>D=O<), O6?O5FEO
F>, GF> 74 >4<= >5>D>F =4 ?N5>< <7 =<E 6O?>?=O5FEO 465 574><.

�E>55==>EF< ?D4>F<>< D45>FO 46F><>5<?5= =4 D476>7>G=OE,

E5>D=OE, D476>7>G=>-E5>D=OE <4DLDGF4E:

- >7D4=<G5==O=, ?> GE?>6<O< >?<5=FGDO, >5N5< ?5D56>7<<>7>
7DG74;

- =5>5E>4<<>EFL 4>EF46>< ??4=>6>7> >5N5<4 7DG74 74 E<5=G
=5E>>?L><<< 746>74<<;

- =56>7<>6=>EFL >><?5=E4F<< =54>6>74 7DG74 6 E?54GNM5<
<=F5D64?5 6D5<5=< >5E?G6<64=<O;

-=4?<G<5 EFD>7<E 6D5<5==OE 7D4=<F ?5D56>7>< 7DG74, 6 DO45
E?GG456 <5=LL<E 6D5<5=< =4DO44 46F><>5<?5=;

- =4 ?N5>< D476>7>G=><, E5>D=><, D476>7>G=>-E5>D=>< <4DLDGF5 6
>>=>D5F=O= <><5=F 6D5<5=< D45>F45F 6E5744 >4<= 46F><>5<?L;

- <4DLDGFO D47D454FO64NFEO ?>4 7DG7>?>4N5<=>EFL
(7DG7>6<5EF<<>EFL) <<5NM<EEO FD4=E?>DF=OE ED54EF6;

- ?5D56>7>4 7DG74 >EGM5EF6?O5FEO =4 74D4=55 E??4=<D>64==OE
D476>7>G=OE, E5>D=OE, D476>7>G=>-E5>D=OE <4DLDGF4E;

- ?5D56>7>< D47=OE 7DG7>6 <<5NF >F?<G<O 6 >5N5<4E >E64<645<OE
7DG7>?>F>>>6, >>?<G5EF65 >5E?G6<645<>= >?<5=FGDO < <E?>?L7G5<OE
46F><>5<?5=.



�>=FD>?L=O5 6>?D>EO
1. 'F> =47O645FEO D476>7>G=O< <4DLDGF><?
2. 'F> =47O645FEO E5>D=O< <4DLDGF><?
3. 'F> =47O645FEO D476>7>G=>-E5>D=O< <4DLDGF><?
4. �5D5G<E?<F5 6<4O D476>7>G=>-E5>D=OE <4DLDGF>6.

5. �47>6<F5 >F?<G<O D476>7>G=>-E5>D=OE <4DLDGF>6.

6. �5D5G<E?<F5 >4<=4>>6O5 ?>7<F<<, E6>=EF65==O5 D47?<G=O< 6<44< D476>7>G=>-E5>D=OE <4DLDGF>6.

7. �47>6<F5 >E>55==>EF< ?D4>F<>< D45>FO 46F><>5<?5= =4 D476>7>G=OE, E5>D=OE, D476>7>G=>-E5>D=OE
<4DLDGF4E.

8. '5< >F?<G4NFEO D476>7>G=O= < E5>D=O= <4DLDGFO >F D476>7>G=>-E5>D=>7>?



3.4 $44<4?L=O5 <4DLDGFO
$44<4?L=O= <4DLDGF E>EF><F <7 F5=FD4?L=>7> 7DG7>6>7> ?G=>F4 < =5E>>?L><E ?5D<D5D<==OE. �5F6<

<4DLDGF4 ?> E6>5= >>=D<7GD4F<< <>7GF E>>F65FEF6>64FL <4OF=<>>6O< EE5<4< D47?<G=>7> 6<44 < >>?LF56O<
(D<E. 9).

&4><5 ?>=OF<O >4> >5>D>F < 4?<=4 <4DLDGF4 =5 ?D<<5=<<O 6 F5?>< 4?O D44<4?L=OE FD4=E?>DF=OE
EE5<. %D54< 65F65= E >>?LF56>= >>=D<7GD4F<5= <>7GF 5OFL D476>7>G=O5 (E5>D=O5) < D476>7>G=>-E5>D=O5.

�D74=<74F<O 6O6>74 (746>74) 7DG7>6 ?> D44<4?L=O< EE5<4< >EGM5EF6?O5FEO ?D< 4>EF46>5 7DG7>6 <7
F5=FD4 =4 ?5D<D5D<N <?< =4>5>D>F, =4?D<<5D: 6O6>7 <745?<= < <4F5D<4?>6 EFD>=<=4GEFD<< =4
EFD><F5?L=O5 >5N5>FO (><D?<G, 65?57>55F>=, F>64D=O= 55F>=), 6O6>7 7DG7>6 E 65?57=>4>D>6=OE EF4=F<=
(?D< ?5D56>7>5 >>=F5==5D>6 <>7GF 5OFL D476>7>G=O5 <?< E5>D=O5 EE5<O 65F65=), 746>7 ?D>4G>F<< E5?LE>>7>
E>7O=EF64 6 ED4=<?<M4 <?< ?G=>FO ?5D5D45>F>< (75D=> =4 M?564F>DO, >4DF>D5?L =4 547O ED4=5=<O, 6O6>7
55=7<=4 <?< 4<75?L=>7> F>??<64 =4 ��% < F.?.).

�D74=<74F<O MDD5>F<6=>= D45>FO 46F><>5<?5= =4 D44<4?L=OE <4DLDGF4E 7=4G<F5?L=> E?>6=55, G5<
=4 >>?LF56OE < F5< 5>?55 =4 <4OF=<>>6OE. %?>6=>EFL >D74=<74F<< >5GE?>6?5=4 F5<, GF> 6 F5=FD4?L=OE
?G=>F4E ?D><EE>4<F ?5D5E5G5=<5 7DG7>6OE ?>F>>>6, 6E>4OM<E (6OE>4OM<E) ?>F>>>6 46F><>5<?5= < <E
674<<=>5 6?<O=<5 4DG7 =4 4DG74 =4 >5M<E ?>EF4E ?>7DG7>< (6O7DG7><). �5 >D4F=>EFL 6D5<5= >5>D>F>6 ?>
65F6O< <4DLDGF4 ?D<6>4<F > >4=>6D5<5==><G ?D<5OF<N =5E>>?L><E FD4=E?>DF=OE ED54EF6 =4 ?>6F>D=GN
?>7DG7>G (6O7DG7>G), 6O7O645F ?>O6?5=<5 ?D>EF>56 6 >6<44=<< <E?>?=5=<O 7DG7>6OE D45>F. �>MF><G 6
>DG?=OE F5=FD4?L=OE 7DG7>6OE ?G=>F4E >5O74F5?L=> >D74=<7GNFEO 4<E?5FG5DE><5 E?G65O, 6 7444G<
>>F>DOE 6E>4<F D47D45>F>4 D4E?<E4=<= (7D4D<>>6) < G?D46?5=<5 D45>F>= 46F><>5<?5= < ?>EF>6 ?>7DG7><
(6O7DG7><).



3.5 �4DLDGFO ?5D56>7>> ?4EE46<D>6
�E=>6=O5 6<4O <4DLDGF>6 ?4EE46<DE><E ?5D56>7>>

�4DLDGFO ?4EE46<DE><E ?5D56>7>> >?4EE<D<F<DGNFEO ?> E?54GNM<< ?D<7=4>4<.

�> >F=>L5=<N > >5E?G6<645<O< =4E5?5==O< ?G=>F4<:

• 7>D>4E><5 - ?D>E>4OF 6 ?D545?4E G5DFO 7>D>44 <?< <=>7> =4E5?5==>7> ?G=>F4;

• ?D<7>D>4=O5 - 6OE>4OF 74 G5DFG =4E5?5==>7> ?G=>F4 =4 D4EEF>O=<5 4> 50 ><;

• <564G7>D>4=O5 - 6OE>4OF 74 G5DFG 7>D>44 =4 D4EEF>O=<5 5>?55 50 ><. � =<< 65 >F=>EOFEO
<564G=4D>4=O5 <4DLDGFO, ?D>?>65==O5 ?> F5DD<F>D<< =5E>>?L><E 7>EG44DEF6.

�> 6D5<5=< <E?>?L7>64=<O:

• ?>EF>O==O5 - <E?>?L7GNFEO >DG7?>7>4<G=>;

• E57>==O5 (6D5<5==O5) - <E?>?L7GNFEO 6 >?D545?5==O5 ED>>< (=4?D<<5D, 6 EGEGN ?>7>4G <?< 6 44G=O=
E57>=).

�6<65=<5 ?> E57>==O< < ?>EF>O==O< <4DLDGF4< <>65F 5OFL >D74=<7>64=> D4>G?LF4F<6=> E GG5F><
<=F5=E<6=>EF< ?>F>>4 ?4EE46<D>6.

�> E>>F=>L5=<N ?DO<>7> < >5D4F=>7> =4?D46?5=<O:

• <4OF=<>>6O5 - E>EF>OF <7 ?DO<>7> < >5D4F=>7> =4?D46?5=<=, ?D>E>4OM<E ?> >4=>= < F>= 65 FD4EE5;

• >>?LF56O5 - E>EF>OF <7 ?DO<>7> < >5D4F=>7> =4?D46?5=<=, >5D47GNM<E 74<>=GFO= >>=FGD.

�> D4E?>?>65=<N =4 F5DD<F>D<< >5E?G6<645<>= <5EF=>EF<:

• 4<4<5FD4?L=O5 - E>54<=ONF <4>E<<4?L=> >F44?5==O5 4DG7 >F 4DG74 D4=>=O 7>D>44 (=4?D<<5D,
E565D=O5 < N6=O5) < ?D>E>4OF G5D57 F5=FD;

• ?>?G-4<4<5FD4?L=O5 - ?D>E>4OF G5D57 F5=FD < E>54<=ONF =5 4<4<5FD4?L=> D4E?>?>65==O5 D4=>=O
(=4?D<<5D, E565D=O5 < 6>EF>G=O5);
• D44<4?L=O5 - E>54<=ONF ?5D<D5D<==O5 D4=>=O =4E5?5==>7> ?G=>F4 E F5=FD><;

• F4=75=E4?L=O5 - E>54<=ONF >F45?L=O5 ?5D<D5D<==O5 D4=>=O < =5 ?D>E>4OF G5D57 F5=FD.

�D< ?D>>?44>5 <4DLDGF4 ?N5>7> 6<44 GG<FO645FEO >D4FG4=L55 D4EEF>O=<5 <564G ?G=>F4<< E
=4<5>?LL<< ?4EE46<D>?>F>>><. $57G?OD=O= ?GFL E?54>64=<O 74>474==>7> <<>D>46F>5GE4 4>?65= 74=<<4FL
<<=<<G< 6D5<5=< =4 ?>574>G



�<4O ?4EE46<DE><E ?5D56>7>>
%?G655=O5. �D54=47=4G5=O 4?O D57G?OD=>= 4>EF46>< E>FDG4=<>>6 > <5EFG D45>FO 6 =4G4?5 4=O < >

<5EFG 6<F5?LEF64 ?> 57> 7465DL5=<<. �>7GF <E?>?L7>64FLEO 4?O >D74=<74F<< D47>6OE >><4=4<D>6>> <
4DG7<E E?G655=OE ?>574>>. �?O MF>7> 6<44 ?5D56>7>> <E?>?L7GNF 46F><>5<?< ?D54?D<OF<O <?< EF>D>==5=
>D74=<74F<<.

�4EF>6O5. �D54=47=4G5=O 4?O 4>EF46>< > <5EFG D45>FO E?5F<4?<EF>6, D45>F4NM<E 64EF>6O<
<5F>4>< (5D<744 =5DFO=<>>6, EFD><F5?5= < F.4.). �EGM5EF6?ONFEO 6 >4=>EF>D>==5< ?>DO4>5, D4E?<E4=<5
746<E<F >F 7D4D<>4 =4G4?4 < >>=F4 E<5=O. �?O MF>7> 6<44 ?5D56>7>> <E?>?L7G5FEO >5M5EF65==O= <?<
654><EF65==O= FD4=E?>DF.

&GD<EF<G5E><5. �D54=47=4G5=O 4?O >5E?G6<64=<O FGD<EF<G5E><E 7DG??. �EGM5EF6?ONFEO 6 D47>6><
<?< D57G?OD=>< D56<<5 ?> 74D4=55 E>7?4E>64==><G <4DLDGFG E 6O574>< 74 ?D545?O =4E5?5==OE ?G=>F>6.

�?O MF>7> 6<44 ?5D56>7>> <E?>?L7G5FEO 654><EF65==O= < >5M5EF65==O= FD4=E?>DF.
->E>GDE<>==O5. �D54=47=4G5=O 4?O >5E?G6<64=<O M>E>GDE<>==OE 7DG??. �EGM5EF6?ONFEO ?> 74>47G,

<4DLDGF < D4E?<E4=<5 46<65=<O 746<EOF >F ?D>7D4<<O < D4E?<E4=<O M>E>GDE<=. �?O MF>7> 6<44 ?5D56>7>>
<E?>?L7G5FEO 654><EF65==O= FD4=E?>DF.

,>>?L=O5. �D54=47=4G5=O 4?O 4>EF46>< GG4M<EEO >F <5EF4 6<F5?LEF64 4> L>>?O 6 =4G4?5 4=O <
>5D4F=> ?> 7465DL5=<< 74=OF<=. �EGM5EF6?ONFEO ?> 7D4D<>G 6 E>>F65FEF6<< E> L>>?L=O< D4E?<E4=<5<.

&<? 46F>5GE4, 57> 6<5EF<<>EFL < <4DLDGF E?54>64=<O 6O5<D4NFEO 6 746<E<<>EF< >F >>?<G5EF64 GG5=<>>6 <
<5EF4 <E ?D>6<64=<O.

%?5F<4?L=O5. �D54=47=4G5=O 4?O >5E?G6<64=<O >>=D5D5=F<=, EN574>6 < 4DG7<E <5D>?D<OF<=.

�EGM5EF6?ONFEO 6 D47>6>< ?>DO4>5 ?> 74>47G GGD5645=<= < >D74=<74F<=. �?O MF>7> 6<44 ?5D56>7>>
<E?>?L7GNFEO G4EF=O5 <<>D>46F>5GEO, ?57>>6O5 46F><>5<?< < 4DG7<5 6<4O FD4=E?>DF4.

�564G=4D>4=O5 < <564G7>D>4=<5 ?4EE46<DE><5 ?5D56>7><
�564G=4D>4=O5. �>EF46>4 ?4EE46<D>6 >EGM5EF6?O5FEO <7 >4=>7> 7>EG44DEF64 6 4DG7>5. �5D56>7><

>F?<G4NFEO 5>?LL>= ?D>FO65==>EFLN <4DLDGF4 (>F =5E>>?L><E E>F5= 4> =5E>>?L><E FOEOG ><?><5FD>6),
7=4G<F5?L=O<< <=F5D64?4<< 46<65=<O < E?5F<4?L=O<< GE?>6<O<<, D57?4<5=F<DG5<O<< <564G=4D>4=O<<
FD4=E?>DF=O<< >>=65=F<O<<. �?O <564G=4D>4=>7> E>>5M5=<O <E?>?L7G5FEO 6>74GL=O=, <>DE>>=,
65?57=>4>D>6=O= < 46F><>5<?L=O= FD4=E?>DF.



�564G7>D>4=O5. �>EF46>4 ?4EE46<D>6 >EGM5EF6?O5FEO <564G =4E5?5==O<< ?G=>F4<< D47?<G=OE
D57<>=>6, 46F>=><=OE D5E?G5?<> 6=GFD< >4=>= EFD4=O. �5D56>7>< >F?<G4NFEO 5>?LL>= ?D>FO65==>EFLN
<4DLDGF4 (>F 50 4> =5E>>?L><E FOEOG ><?><5FD>6) < <E?>?L7>64=<5< >><D>DF455?L=OE ED54EF6
?5D546<65=<O. �?O <564G7>D>4=>7> E>>5M5=<O <>65F <E?>?L7>64FLEO 6>74GL=O=, 6>4=O=,
65?57=>4>D>6=O= < 46F><>5<?L=O= FD4=E?>DF.

�D<7>D>4=O5. �>EF46>4 ?4EE46<D>6 >EGM5EF6?O5FEO <564G =4E5?5==O<< ?G=>F4<< >4=>= >5?4EF<
<?< D4=>=4. �5D56>7>< >F?<G4NFEO ED54=5= ?D>FO65==>EFLN <4DLDGF4 (4> 50 ><), 5>?LL<<< <=F5D64?4<<
46<65=<O, =55>?LL<< < =5EF45<?L=O< ?4EE46<D>?>F>>><, >>F>DO= 746<E<F >F 6D5<5=< EGF>>, E57>=4 <
4DG7<E D4>F>D>6. �?O ?D<7>D>4=>7> E>>5M5=<O <>65F <E?>?L7>64FLEO 65?57=>4>D>6=O= (M?5>FD>?>5744) <
46F><>5<?L=O= (F4>E<, <<>D>46F>5GEO, 46F>5GEO) FD4=E?>DF.

�>D>4E><5. �>EF46>4 ?4EE46<D>6 >EGM5EF6?O5FEO 6 ?D545?4E >4=>7> =4E5?5==>7> ?G=>F4. �5D56>7><
>F?<G4NFEO =57=4G<F5?L=>= ?D>FO65==>EFLN <4DLDGF>6 (8-10 ><), =55>?LL<<< <=F5D64?4<< 46<65=<O,
??>F=O< ?4EE46<D>?>F>>>< 6 >?D545?5==>5 6D5<O EGF>>. �EGM5EF6?ONFEO ?>475<=O< (<5FD>?>?<F5=) <
=475<=O< (46F>5GEO, <<>D>46F>5GEO, FD>??5=5GEO, FD4<64<, F4>E<) FD4=E?>DF><

�E=>6=O5 E4D4>F5D<EF<>< ?4EE46<DE><E ?5D56>7>>
�4EE46<D>?>F>> - MF> >>?<G5EF6> ?N45=, >>F>D>5 ?5D5<5M45FEO 6 >4=>< =4?D46?5=<< =4 >464><

?5D57>=5 <4DLDGF4 FD4=E?>DF=>7> ED54EF64 <?< =4 E5F< 6E5E <4DLDGF>6 >?D545?5==>7> F<?4
(<564G=4D>4=OE, <564G7>D>4=OE, ?D<7>D>4=OE, 7>D>4E><E) 6 7444==GN 54<=<FG 6D5<5=< (G4E, EGF><,
=545?O, <5EOF, 7>4 < F.4.). %4D4>F5D<EF<>4 ?>F>>4 ?4EE46<DE><E ?5D56>7>> =5>5E>4<<4 4?O >?F<<<74F<< <
E>65DL5=EF6>64=<O FD4=E?>DF=>7> >5E?G6<64=<O =4 7444==>< <4DLDGF5. �7GG5=<5 ?4EE46<D>?>F>>>6
?D<<5=O5FEO 4?O 6O5>D4 FD4EEO, >><??5>F4F<< ?>46<6=>7> E>EF464, D4E?>?>65=<O >EF4=>6>G=OE ?G=>F>6
=4 ?GF< E?54>64=<O >5M5EF65==>7> FD4=E?>DF4.

�4EE46<D>?>F>>< E4D4>F5D<7GNFEO E?54GNM<<< ?4D4<5FD4<<:

�>M=>EFL (=4?DO65==>EFL). -F> >>?<G5EF6> ?4EE46<D>6, >>F>D>5 ?5D56>7<F <<>D>46F>5GE <?<
4DG7>5 FD4=E?>DF=>5 ED54EF6> 6 >?D545?5==O= >FD57>> 6D5<5=< ?> >>=>D5F=><G GG4EF>G <4DLDGF4 6 >4=><
=4?D46?5=<<. �>M=>EFL <>65F D4EEG<FO64FLEO 4?O 6E5= FD4=E?>DF=>= E5F< >4=>7> 7>D>44 <?< 4DG7>7>
=4E5?5==>7> ?G=>F4.



�5N5<. -F> >>?<G5EF6> ?4EE46<D>6, >>F>D>5 ?5D546<74?>EL ?> >?D545?5==><G <4DLDGFG <?< E5F<
<4DLDGF>6 6 ?DO<>< < >5D4F=>< =4?D46?5=<< E?54>64=<O FD4=E?>DF4 6 7444==O= 6D5<5==>= >FD57>> (74 G4E,
EGF><, <5EOF, 7>4 < F.4.).

�4EE46<D>>5>D>F. -F> ?D><76545=<5 D4EEF>O=<O ?5D56>7>> =4 >>?<G5EF6> ?4EE46<D>6. �7<5DO5FEO 6
?4EE46<D>-><?><5FD4E < E4D4>F5D<7G5F MDD5>F<6=>EFL ?5D56>7>> =4 >?D545?5==>< <4DLDGF5 <?<
<4DLDGF=>= E5F< >4=>7> =4E5?5==>7> ?G=>F4.

%?>E>5O >D74=<74F<< ?4EE46<DE><E ?5D56>7>> 
< 6<4O 46F>5GE=OE ?5D56>7>>

� 746<E<<>EF< >F E?>E>54 >D74=<74F<< ?4EE46<DE><5 ?5D56>7>< <<>D>46F>5GE4<< < 4DG7<<<
FD4=E?>DF=O<< ED54EF64<< <>7GF >F=>E<FLEO > >4=><G <7 FD5E E?54GNM<E 6<4>6:

$57G?OD=O5. � MF><G 6<4G >F=>EOFEO ?5D56>7>< 7D4644=, >D74=<7G5<O5 >D74=4<< <G=<F<?4?L=>7>
G?D46?5=<O <?< ?D54EF46<F5?O<< <E?>?=<F5?L=>= 6?4EF<. �EGM5EF6?ONFEO E>7?4E=> ?D>7D4<<5 D476<F<O
>5M5EF65==>7> FD4=E?>DF4 =4 >?D545?5==>= F5DD<F>D<< (6 7>D>45, >5?4EF< < F.4.). �D><76>4OFEO =4
>E=>64=<< 4>7>6>D4 FD4=E?>DF<D>6>< ?4EE46<D>6 < 547464 ?> <4DLDGFG D57G?OD=OE ?5D56>7>>. �4>?NG5=<5
4>7>6>D4 ?>4F65D6445FEO ?D>574=O< 5<?5F><.

$57G?OD=O5 E?5F<4?L=O5. � MF><G 6<4G >F=>EOFEO ?5D56>7>< >D74=<7>64==OE 7DG?? ?4EE46<D>6:

GG4M<EEO, E>FDG4=<>>6 ?D54?D<OF<=, FGD<EF>6. �EGM5EF6?ONFEO =4 >E=>64=<< 4>7>6>D4 E ?5D56>7G<>><,
>>F>DO= ?D54>EF46?O5F GE?G7< FD4=E?>DF<D>6>< 6 E>>F65FEF6<< E 7444==O< 7D4D<>>< =4 ?D>FO65=<<
>?D545?5==>7> ?5D<>44 6D5<5=<. �D54?>?474NF EFD4E>64=<5 ?4EE46<D>6 6 GEF4=>6?5==>< 74>>=>< ?>DO4>5.

�5D57G?OD=O5. � MF><G 6<4G >F=>EOFEO D47>6O5 ?5D56>7>< (=5 G4M5 46GE D47 6 =545?N ?> >4=><G
<4DLDGFG E?54>64=<O), >D74=<7>64==O5 ?> 74>47G D<7<G5E>>7> <?< ND<4<G5E>>7> ?<F4 (?D474=<G=O5,
FGD<EF<G5E><5, D47>64O 4>EF46>4 =4 <5D>?D<OF<O <?< > <5EF4< >F4OE4 < F.4.). �EGM5EF6?ONFEO =4 >E=>64=<<
4>7>6>D4 E >><?4=<5=, >>47O64NM5= FD4=E?>DF=O5 GE?G7<. �D54?>?474NF EFD4E>64=<5 ?4EE46<D>6.

�=D>D<4F<O > EFD4E>6>= >><?4=<< D47<5M45FEO 6 E4?>=5 FD4=E?>DF=>7> ED54EF64.



3.6  �=F5D<>44?L=O5 < <G?LF<<>44?L=O5 ?5D56>7><
�5D56>7>< ?> EE5<5 «>F 465D< > 465D<», ?>4D47G<564NM<5 ?>4 E>5>= ?D<<5=5=<5 =5E>>?L><E 6<4>6

FD4=E?>DF4, =47O64NF <=F5D<>44?L=O<<, >><5<=<D>64==O<<, E<5L4==O<<, <G?LF<<>44?L=O<<.

• %<5L4==4O ?5D56>7>4 — ?5D56>7>4 7DG74 FD4=E?>DF>< D47=OE 6<4>6;

• �><5<=<D>64==4O ?5D56>7>4 — ?5D56>7>4 7DG74 6 >4=>< >>=F5==5D5 =4 D47=>< FD4=E?>DF5 (>>=F5==5D
=5 6E>DO645FEO, 7DG7 <7 =57> =5 ?5D5=>E<FEO 6 4DG7>5 <5EF>);
• �=F5D<>44?L=4O ?5D56>7>4 — ?5D56>7>4 7DG7>6>= 54<=<FO (=5E>>?L><E 7DG7>6 6 54<=>= G?4>>6>5)
FD4=E?>DF>< D47=OE 6<4>6 ?>4 >D74=<74F<5= >4=>7> >?5D4F>D4 < ?> 54<=><G FD4=E?>DF=><G 4>>G<5=FG;

• �G?LF<<>44?L=4O ?5D56>7>4 — 4>EF46>4 7DG74 =4 FD4=E?>DF5 D47=OE F<?>6 ?>4 >D74=<74F<= >4=>=
>><?4=<5=, E <E?>?L7>64=<5< 54<=>7> FD4=E?>DF=>7> 4>>G<5=F4 (=4>?44=>=) < E>6>7=>7> F4D<D4.

%<5L4==4O ?5D56>7>4
%<5L4==>= =47O64NF ?5D56>7>G, >>F>DGN >EGM5EF6?ONF =4 46GE < 5>?55 6<44E FD4=E?>DF4. �D< MF><

?5D56>7G<>>6 <>65F 5OFL <=>7> — ?> G<E?G FD4=E?>DF=OE ED54EF6. �E?< 4>EF46>>= 74=<<45FEO >4=4
>><?4=<O, D5GL <45F > ?DO<>= E<5L4==>= ?5D56>7>5.

-F> >?4EE<G5E>4O < E4<4O ?D>EF4O 4?O ?>=<<4=<O EE5<4 FD4=E?>DF<D>6><. �GEFL < =5 E4<4O
MDD5>F<6=4O.

�><5<=<D>64==4O ?5D56>7>4
� 44==>< E?GG45 7DG7 F4>65 ?5D5E>4<F E >4=>7>

FD4=E?>DF4 =4 4DG7>=: E EG4=4 =4 46F><>5<?L, E
46F><>5<?O — =4 ??4FD>D<G ?>5744 < F.4. �4=4>> =4
6E5< ?D>FO65=<< ?GF< 7DG7 =4E>4<FEO 6 >4=><
>>=F5==5D5. �<5==> >>=F5==5D ?5D57DG645FEO E >4=>7>
FD4=E?>DF4 =4 4DG7>=. %4< 7DG7 ?D< MF>< =5 6O7DG64NF
<7 >>=F5==5D4 4> <><5=F4 ?D<5OF<O 6 ?G=>F =47=4G5=<O.

�><5<=<D>64==4O ?5D56>7>4 — MF> D47=>6<4=>EFL
E<5L4==>=.



�=F5D<>44?L=4O ?5D56>7>4
�>-?5D6OE, ?>4 «<=F5D<>44?L=>EFLN» ?>=<<4NF =4?<G<5 54<=>7> ?5D56>7>G=>7> 4>>G<5=F4. �>-

6F>DOE, >=4 ?>4D47G<5645F >FEGFEF6<5 6?445?LF4 7DG74 ?D< 6E5E ?>7DG7>G=>-D477DG7>G=OE D45>F4E. �D>M5
7>6>DO, 64< =5 ?D<45FEO ?<G=> 4>7>64D<64FLEO E FD4=E?>DF=O<< >><?4=<O<< ?D< ?5D57DG7>5 F>64D4 E >4=>7>
6<44 FD4=E?>DF4 =4 4DG7>=. -F> 7=4G<F, 74 <=F5D<>44?L=>= ?5D56>7>>= E?54<F >4=4 >><?4=<O — >?5D4F>D.

�4>>=5F, 6 >F45?L=OE >?D545?5=<OE 6EFD5G45FEO G?><<=4=<5 >5 «>4=>= 7DG7>6>= 54<=<F5», ?>4
>>F>D>= <>6=> ?>4D47G<564FL =5E>>?L>> 54<=<F F>64D4, E6O74==OE 6<5EF5, 6O?>65==OE =4 >4<= ?>44>= <?<
G?4>>64==OE 6 >4=G >>D>5>G.

&4><< >5D47><, <=F5D<>44?L=GN ?5D56>7>G <>6=> =4764FL D47=>6<4=>EFLN E<5L4==>=.

�G?LF<<>44?L=4O ?5D56>7>4
�>4 <G?LF<<>44?L=>= ?5D56>7>>= ?>=<<4NF =4?<G<5 54<=>7> >?5D4F>D4, >F65G4NM57> 74 7DG7 6>

6D5<O FD4=E?>DF<D>6><, < >4=>7> FD4=E?>DF=>7> 4>>G<5=F4 (=4>?44=>=). � 4DG7<E <EF>G=<>4E 7>6>DOF 5M5 <
> 54<=>< E>6>7=>< F4D<D5 =4 ?5D56>7>G.

�G?LF<<>44?L=4O ?5D56>7>4, >4> < E<5L4==4O, >><5<=<D>64==4O, <=F5D<>44?L=4O, ?>4D47G<5645F
?D<<5=5=<5 =5E>>?L><E 6<4>6 FD4=E?>DF4.

%E>4EF6> < $47=<F4 <564G <=F5D<>44?L=O<< < <G?LF<<>44?L=O<< ?5D56>7>4<<
%E>4EF6> <564G <=F5D<>44?L=O<< < <G?LF<<>44?L=O<< ?5D56>7>4<<, ?>4D47G<5645F:

• ?D<<5=5=<5 =5E>>?L><E 6<4>6 FD4=E?>DF4;

• 4>EF46>G ?> EE5<5 «>F 465D< > 465D<»;

• >FEGFEF6<5 G 6?445?LF4 7DG74 =5>5E>4<<>EF< ?<G=> >>=FD>?<D>64FL ?5D57DG7>G.

�>4 ?>E?54=<< ?G=>F>< ?>4D47G<5645FEO =4?<G<5 >4=>7> >?5D4F>D4, FD4=E?>DF=>= >><?4=<<, >>F>D4O
=5E5F >F65FEF65==>EFL 74 7DG7. &4><< >5D47><, < <G?LF<<>44?L=O5, < <=F5D<>44?L=O5 ?5D56>7>< >D74=<7G5F
>4=4 >><?4=<O. �=4 <>65F ?>?L7>64FLEO GE?G74<< EG5?>4DO4G<>><: 6?445FL E>5EF65==O< FD4=E?>DF><
>?5D4F>DG =5>5O74F5?L=>.



$47?<G<O <564G <=F5D<>44?L=O<< < <G?LF<<>44?L=O<< ?5D56>7>4<<, ?>4D47G<5645F:

�G?LF<<>44?L=O5 ?5D56>7>< – MF> 7DG7>6O5 ?5D56>7><, ?D54?>?474NM<5 <E?>?L7>64=<5 D47?<G=OE
6<4>6 FD4=E?>DF4: <>DE>>7>, 46F><>5<?L=>7>, 65?57=>4>D>6=>7> < 46<4F<>==>7>, 4 F4>65 ?5D57DG7>G=OE
F5D<<=4?>6. �D4>F<G5E>< ?N5O5 <564G=4D>4=O5 ?5D56>7>< O6?ONFEO <G?LF<<>44?L=O<<. �4==O= 6<4
?5D56>7>> FD55G5F >>>D4<=4F<< 45=EF6<= 6E5E GG4EF=<>>6 FD4=E?>DF=>= F5?>G><, < >55E?5G5=<5 MF>=
>>>D4<=4F<< – >4=> <7 >E=>6=OE >5O74F5?LEF6 FD4=E?>DF=>-M>E?54<F>DE>>= >><?4=<< ?5D54 >?<5=F><. �4
6EN FD4=E?>DF<D>6>G 6O44UFEO 54<=O= 4>>G<5=F.

�=F5D<>44?L=4O ?5D56>7>4 – F4>65 >EGM5EF6?O5FEO ?D< ?><>M< =5E>>?L><E 6<4>6 FD4=E?>DF4.

�F?<G<5 5U >F <G?LF<<>44?L=>= 74>?NG45FEO 6 F><, GF> ?5D56>7G<> >55E?5G<645F FD4=E?>DF<D>6>G 7DG74 =5
E4<>EF>OF5?L=>, 4 E ?D<6?5G5=<5< EF>D>==<E >><?4=<=. � 746<E<<>EF< >F >>?<G5EF64 GG4EF6GNM<E 6
?D>F5EE5 ?5D56>7G<>>6 >F?D46<F5?N ?D54>EF46?O5FEO =5E>>?L>> FD4=E?>DF=OE 4>>G<5=F>6.

� 746<E<<>EF< >F F<?4 FD4=E?>DF4, <E?>?L7G5<>7> =4 >E=>6=>< GG4EF>5 ?GF<, 6O45?ONF:

65?57=>4>D>6=O5, 6>4=O5 (<>DE><5, D5G=O5), 46<4- < 46F>?5D56>7><.

�6F>?5D56>7>< ?>?444NF 6 >4F57>D<N <G?LF<<>44?L=OE, >>744 <E?>?L7G5FEO E?>6=4O EE5<4 E 745>D><
7DG74 G =5E>>?L><E ?>EF46M<>>6 <5?><< 46F>FD4=E?>DF>< E ?>E?54GNM5= 57> >>=E>?<44F<5= < 44?L=5=L5=
4>EF46>>= 5>?55 7DG7>?>4N5<=O< FD4=E?>DF><. �?< =4>5>D>F, >>744 >E=>6=>= ?GFL F>64D ?D>45?O645F 6
>DG?=>7454D<F=>< FD4=E?>DF5, 4 =4 <5EF4E >EGM5EF6?O5FEO 44D5E=4O 4>EF46>4 D47=O< ?>?GG4F5?O<,
74>47G<> ?D< MF>< >4<=.

�>4=O5, >=< 65 >>=F5==5D=O5 <G?LF<<>44?L=O5 ?5D56>7><, 6 G<EF>< 6<45 6EFD5G4NFEO >G5=L
D54>>, F.>. >F?D46<F5?L < ?>?GG4F5?L D54>> 5O64NF E6O74=O 54<=>= 6>4=>= 4DF5D<5=.

�G?LF<<>44?L=O5 65?57=>4>D>6=O5 ?5D56>7>< ?>4D47G<564NF 4>?7<= ?GFL F>64D4 ?> 65?57=>=
4>D>75 ?>E?5 ?5D564?>< 57> 6 ?>DFG, 4>EF46>G 7DG74 46F>FD4=E?>DF>< >F E>?444 4> 647>=4 <?< =4>5>D>F.
%4<>?5F E 6.4. FD4=E?>DF>< >><5<=<DG5FEO 6 >G5=L D54><E E?GG4OE. � <G?LF<<>44?L=>= 6.4. ?5D56>7>5
?D<5574NF 4?O FD4=E?>DF<D>6>< >F45?L=OE 7DG?? F>64D>6 (75D=>6OE, =4EO?=OE, F4D=OE < ?D.) 6 5>?LL<E
<=4GEFD<4?L=OE >>?<G5EF64E E F5?LN G45L56?5=<O 57> >>=5G=>= EF><<>EF< 74 EG5F 5>?55 =<7>>= F5=O 6.4.

FD4=E?>DF4.

�G?LF<<>44?L=O5 46<4?5D6>7>< F5?5E>>5D47=55 74>47O64FL G >DG?=>7> >?5D4F>D4, D45>F4NM57>
<<5==> E 46<4FD4=E?>DF><. % D<=4=E>6>= F>G>< 7D5=<O ?D<<5=5=<5 <G?LF<<>44?L=>= 46<4?5D6>7><
6O7>4=> ?D< 4>EF46>5 <5?>>7454D<F=OE 7DG7>6 6 E64FO5 ED>><.



$545D4?L=>5 7>EG44DEF65==>5 5N465F=>5 >5D47>64F5?L=>5 GGD5645=<5 
6OEL57> >5D47>64=<O

“'?LO=>6E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F <<. �.�. %F>?O?<=4=

$47D45>FG<>: 4>F5=F  >4D54DO -�� < &� %4?4EGF4<=>6 �.$. 

�4D54D4 «->E??G4F4F<< �� < &�»
�D74=<74F<O 46F><>5<?L=OE ?5D56>7>> <

557>?4E=>EFL 46<65=<O

�5>F<O  74
%<EF5<4 G?D46?5=<O, E555EF><<>EFL < F4D<DO =4 ?5D56>7><



�5>F<O 4.%<EF5<4 G?D46?5=<O, E555EF><<>EFL < F4D<DO =4 ?5D56>7><
�==>F4F<O. � 44==>< D4745?5 D4E>DO64NFEO 6>?D>EO G?D46?5=<O ?5D56>7>4<< =4 46F><>5<?L=>< FD4=E?>DF5,

D>D<<D>64=<O ?>>474F5?5= E555EF><<>EF< < F4D<D>6, 4 F4> 65 4>>G<5=F4?L=>5 >D>D<?5=<5 ?5D56>7>< 7DG7>6
46F><>5<?L=O< FD4=E?>DF><.

�?NG56O5 E?>64. '?D46?5=<5, FD4=E?>DF=O= ?D>F5EE, ?>7DG7>4 �%, ?5D5<5M5=<5 7DG74, D477DG7>4 �%,

4<E?5FG5D, 6>4<F5?<, E555EF><<>EFL, F4D<DO, D4EE>4O, F>??<6>, M>E??G4F4F<>==O5 <4F5D<4?O, F5E=<G5E>>5
>5E?G6<64=<5, D5<>=F, 4<>DF<74F<>==O5 >FG<E?5=<O. ?GF56>= ?<EF, F>64D=>-FD4=E?>DF=4O =4>?44=4O.

�5F>4<G5E><5 D5>><5=44F<< ?> <7GG5=<N F5<O. �7GG<FL F5>D5F<G5E>GN G4EFL E >?D545?5=<O<< <
>E=>6=O<< ?>=OF<O<<. �F65F<FL =4 6>?D>EO 4?O E4<>>>=FD>?O, <7GG<FL < GE6><FL 7?>EE4D<=, D47>5D4FL E?<E>>
E>>D4M5=<= ?D<654U==O= 6 >>=F5 ?5>F<<. �>?D>EO 6>7=<>L<5 ?D< <7GG5=<< 44==>= F5<O <>6=> 5>?55 ?>4D>5=>
D4EE<>FD5FL 6 ?5D6><EF>G=<>4E <E?>?L7>64==OE <=D>D<4F<>==OE D5EGDE4E.

&5<4F<>4 74=OF<=
4.1 $G>>6>4EF6> < G?D46?5=<5 ?5D56>7>4<< 4.4 �>>G<5=F4?L=>5 >D>D<?5=<5 ?5D56>7>< 7DG7>6:

4.2 %FDG>FGD4 E?G65O M>E??G4F4F<< �&� - �GF56>= ?<EF
4.3 %555EF><<>EFL ?5D56>7>> - &>64D=>-FD4=E?>DF=4O =4>?44=4O

�?>EE4D<= > ?5>F<< 74
%?G654 M>E??G4F4F<< - EFDG>FGD=>5 ?>4D4745?5=<5 �&� D5L4NM4O 7444G< >D74=<74F<< ?5D56>7>>,

>55E?5G5=<O 6O?>?=5=<O ?D<=OF>7> ??4=4 D45>FO �&�, 4>EF<65=<O MDD5>F<6=>7> <E?>?L7>64=<O �% < >55E?5G5=<O
557>?4E=>EF< 46<65=<O �&% =4 ?<=<<.

�><<5DG5E>4O 7DG??4 – 654GM55 ?>4D4745?5=<5 6 E?G655 M>E??G4F4F<< 6O?>?=ONM4O DG=>F<< <7GG5=<O
7DG7>?>F>>>6, ?>FD55=>EF5= 6 ?5D56>7>4E, >?<5=FGDO, >>=FD>?O, ?>47>F>6>5 <4DLDGF>6 < 4>7>6>D>6 E >?<5=FGD>= <
?D<5< 74O6>> =4 ?5D56>7>G, D47D45>F>< <5D>?D<OF<= ?> ?>6OL5=<N MDD5>F<6=>EF< <E?>?L7>64=<O �%, E>EF46?5=<5
E<5==>-EGF>G=>7> ??4=4 < 7444=<= 6>4<F5?O<.

�GF56>= ?<EF - >E=>6=>= ?5D6<G=O= 4>>G<5=F >?D545?ONM<= ?>>474F5?< D45>FO &% < 6>4<F5?O < E?G6<F 4?O
=4G<E?5=<O 74D45>F=>= ??4FO 6>4<F5?N < D4EG5F4E 74 ?5D56>7><.

&>64D=>-FD4=E?>DF=4O =4>?44=4O - O6?O5FEO >E=>6=O< 4>>G<5=F>< 4?O E?<E4=<O 7DG74 7DG7>>F?D46<F5?5< <
>?D<E>4>64=<O 57> 7DG7>?>?GG4F5?5<.

%555EF><<>EFL ?5D56>7>> - 74FD4FO �&� =4 6O?>?=5=<5 ?5D56>7>> 6 45=56=>= D>D<5.

%?<E>> E>>D4M5=<=
&� < &$ – F5E=<G5E>>5 >5E?G6<64=<5 < F5>GM<= D5<>=F. �� – 557>?4E=>EFL 46<65=<O. &&� - F>64D=>-

FD4=E?>DF=4O =4>?44=4O. &%� – F>??<6>-E<47>G=O5 <4F5D<4?O.



4.1 $G>>6>4EF6> < G?D46?5=<5 ?5D56>7>4<<
$G>>6>4EF6> < G?D46?5=<5 ?5D56>7>4<< 6 �&� 6>7?>65=> =4 E?G65G M>E??G4F4F<< < 6>?NG4NF 6 E55O

E?54GNM<5 DG=>F<<:

1. �D74=<74F<N ?D<5<4 74O6>> =4 ?5D56>7>< < <7GG5=<5 ?>FD55=>EF5= >?<5=FGDO �&� 6 ?5D56>7>4E <
4>?>?=<F5?L=OE GE?G74E;

2. $47D45>F>G E<5==>-EGF>G=OE ??4=>6;

3. �D74=<74F<N 6O?GE>4 �% =4 ?<=<N < >D>D<?5=<5 4>>G<5=F>6 ?D< 57> 6>76D4M5=<< E ?<=<<;

4. �EGM5EF6?5=<5 >?5D4F<6=>7> DG>>6>4EF64 < >>=FD>?O D45>FO �% =4 ?<=<<;

%?G654 M>E??G4F4F<< O6?O5FEO 646=5=L<< EFDG>FGD=O< ?>4D4745?5=<5< �&�. � >E=>6=O< 7444G4<
E?G65O M>E??G4F4F<< >F=>EOFEO >D74=<74F<O ?5D56>7>>, >55E?5G5=<5 6O?>?=5=<O ?D<=OF>7> ??4=4 D45>FO
�&�, 4>EF<65=<5 =4<5>?55 MDD5>F<6=>7> <E?>?L7>64=<O �% ?D< =5>5E>4<<>< GD>6=5 >4G5EF64 ?5D56>7>>,
>55E?5G5=<5 557>?4E=>EF< 46<65=<O �&% =4 ?<=<<.

4.2%FDG>FGD4 E?G65O M>E??G4F4F<< �&�
%FDG>FGD4 E?G65O M>E??G4F4F<< �&�:

�4<.4<D5>F>D4 ?> M>E??G4F4F<<
=4G4?L=<> >F45?4 M>E??G4F4F<< =4G4?L=<>< 46F>>>?>== =4G4?L=<> >F45?4 ?> ��
>><<5DG5E>4O 7DG??4
4<E?5FG5DE>4O 7DG??4 6>4<F5?<
>>=FD>?L=>-D4EGUF=4O 7DG??4

�4G4?L=<> >F45?4 M>E??G4F4F<< >EGM5EF6?O5F >5M55 DG>>6>4EF6> E?G65>= < =5EUF ?5DE>=4?L=GN
>F65FEF65==>EFL 74 MDD5>F<6=>EFL 5U D45>FO.

�><<5DG5E>4O 7DG??4 O6?O5FEO 654GM5= 6 E?G655 M>E??G4F4F<< < 6O?>?=O5F E?54GNM<5 DG=>F<<:

• <7GG5=<5 7DG7>6OE ?>F>>>6, ?>FD55=>EF5= 6 ?5D56>7>4E, >?<5=FGDO 6 D4=>=5 >5E?G6<64=<O �&�;

• >>=FD>?L 74 E>EF>O=<5< ?>4N574=OE ?GF5= < ?>7DG7>G=>-D477DG7>G=OE ?G=>F>6;

• ?>47>F>6>4 <4DLDGF>6 < D4E?<E4=<O 46<65=<O 46F>5GE=>7> FD4=E?>DF4;

• D47D45>F>4 <5D>?D<OF<= ?> ?>6OL5=<N MDD5>F<6=>EF< <E?>?L7>64=<O �%;

• ?>47>F>6>4 4>7>6>D>6 E >?<5=FGD>= < ?D<5< 74O6>> =4 ?5D56>7>G;

• E>EF46?5=<5 E<5==>-EGF>G=>7> ??4=4 < ?>47>F>6>4 7444=<= 6>4<F5?O<.



� 46F>5GE=OE �&� 6 7444G< >><<5DG5E>>= 7DG??O F4> 65 6E>4OF 7444G< ?> >E=4M5=<N 46F>5GE=OE
<4DLDGF>6 ?<=5==O< >5>DG4>64=<5< (G>474F5?O<< >EF4=>6>G=OE ?G=>F>6, D4E?<E4=<O<<, ?46<?L>=4<< <
F.?.), D>D<<D>64=<N 5D<744 6>4<F5?5= < >>=4G>F>D>6.

� F4>E><>F>D=OE >D74=<74F<OE >><<5DG5E>4O 7DG??4 E>EF46?O5F 7D4D<>< 6OE>44 =4 ?<=<N,
GEF4=46?<645F < >5>DG4G5F <5EF4 EF>O=>> F4>E<, ?D<=<<45F 74>47O =4 ?5D56>7><.

�<E?5FG5D — MF> D45>F=<>, D57G?<DGNM<= E>4 ?D><76>4EF65==>7> ?D>F5EE4 < >>>D4<=<DGNM<=
674<<>45=EF6<5 6E5E 57> 765=L56 E ?><>MLN ED54EF6 >>=FD>?O, G?D46?5=<O < E6O7<.

�<E?5FG5DE>4O 7DG??4 6 E?G655 M>E??G4F4F<< 6O?>?=O5F E?54GNM<5 DG=>F<<:

• 6O?GE> �% =4 ?<=<N, 6O44G4 < ?D<5< 4>>G<5=F4F<< =4 ?5D56>7>G;

• >?5D4F<6=>5 DG>>6>4EF6> D45>F>= �% =4 ?<=<<;

• ?5D6<G=4O >5D45>F>4 ?GF56>= 4>>G<5=F4F<<;

• E>EF46?5=<5 E<5==>-EGF>G=>7> >FG5F4 ?> 6O?GE>G �% =4 ?<=<N, D57G?LF4F4< D45>FO 74 <EF5>L<5
EGF>< < 6O?>?=5=<N ??4=4 ?5D56>7>>.

�O?GE> �% =4 ?<=<N ?D>6>4OF =4 >E=>64=<< 7D4D<>4 6O?GE>4, ?D< E>EF46?5=<< >>F>D>7> GG<FO64NF
D56<< D45>FO &% < 7D4D<> ?D>6545=<O &� < &$.

�D< 6O?GE>5 �% =4 ?<=<N E<5==O= 4<E?5FG5D ?D>65DO5F =4?<G<5 G 6>4<F5?O 6>4<F5?LE>>7>
G4>EF>65D5=<O, >>=FD>?<DG5F E44GG ?D54O4GM5= ?GF56>= 4>>G<5=F4F<< < ?>E?5 MF>7> 6O445F =>6GN
?GF56GN 4>>G<5=F4F<N.

�D< 6>76D4M5=<< E ?<=<< 6>4<F5?< E44NF ?GF56GN 4>>G<5=F4F<N E<5==><G 4<E?5FG5DG >>F>DO=
?D>65DO5F 74?>?=5=<5 6E5E =5>5E>4<<OE D4745?>6 < E65DO5F 44==O5 ?GF56OE ?<EF>6 E 74?<EO<< 6 &&�.

�D< G?D46?5=<< ?D>F5EE>< D45>FO �% E>FDG4=<>< 4<E?5FG5DE>>= 7DG??O:

1. �>445D6<64NF E6O7L E ?G=>F4<< >F?D46?5=<O < ?D<5OF<O �%;

2. �>=FD>?<DGNF 6O?>?=5=<5 7D4D<>4 D45>FO �%;

3. %?54OF 74 6O?>?=5=<5< =4<5>?55 646=OE ?5D56>7>>, 6 E?GG45 =5>5E>4<<>EF< ?5D5>?NG4O �% <564G
<4DLDGF4<< < >5N5>F4<< >5E?G6<64=<O;

4. �D<=<<4NF =5>5E>4<<O5 <5DO 4?O ?<>6<44F<< ?D>EF>56 �%;

5. �4?D46?ONF =4 ?<=<N ?> 74O6>4< 6>4<F5?5= F5E=<G5E>GN ?><>ML.



$4E?>DO65=<O, ?>EFG?4NM<5 6>4<F5?O< >F 4<E?5FG5D4, O6?ONFEO >5O74F5?L=O<< 4?O <E?>?=5=<O.

�?O 5OEFD>7> ?D<=OF<O D5L5=<= D47D454FO64NF >4DFO F<?>6OE 45=EF6<= 4<E?5FG5D4, 6 >>F>DOE
>?<EO64NFEO F<?<G=O5 E<FG4F<<, 6>7=<>4NM<5 ?D< E5>OE ?5D56>7>G=>7> ?D>F5EE4, < 44NFEO D5>><5=44F<<
4?O <E GEFD4=5=<O.

�4?D<<5D: ?D< ?>?><>5 �% =4 ?<=<< 4<E?5FG5D <>65F ?D<=OFL >4=> <7 E?54GNM<E D5L5=<=:

• 1. �6>4 D575D6=>7> �%;

• 2. �D<=OF<5 E>>D4M5==>7> ??4=4 ?5D56>7>>;

• 3. �5D5>?NG5=<5 �% E 6F>D>EF5?5==OE =4 >E=>6=O5 ?5D56>7><.

-F<< >55E?5G<645FEO E>>D4M5=<5 6D5<5=< D54>F<< =4 E5>< ?5D56>7>G=>7> ?D>F5EE4. %?5F<4?<EFO
>>=FD>?L=>-D4EG5F=>= 7DG??O 6O?>?=ONF ?5D6<G=GN >5D45>F>G ?GF56>= 4>>G<5=F4F<<, 6 E>45 >>F>D>=:

-?D>65DONF ?D>=45==O5 �% D4EEF>O=<O, 6D5<O D45>FO, G<E?> 6O?>?=5==OE D5=E>6 <?< >5N5<O
?5D56575==OE 7DG7>6;

-D4EEG<FO64NF >>>=G4F5?L=GN ??4FG 74 ?5D56>7><;

-D4EEG<FO64NF =>D<4F<6=O= D4EE>4 F>??<64 < ED46=<64NF E D4>F<G5E><<;

-D4EEG<FO64NF 74D45>F=GN ??4FG 6>4<F5?5= 74 6O?>?=5==O5 ?5D56>7><;

->?D545?ONF D4>F<G5E><5 F5E=<>>-M>E??G4F4F<>==O5 ?>>474F5?< D45>FO �%.

4.3 %555EF><<>EFL ?5D56>7>>
%555EF><<>EFLN ?5D56>7>> =47O64NFEO 74FD4FO �&� =4 6O?>?=5=<5 ?5D56>7>> 6 45=56=>= D>D<5 <

?D54EF46?ONF E>5>= M>E??G4F4F<>==O5 D4EE>4O, D4EEG<F4==O5 =4 54<=<FG FD4=E?>DF=>= ?D>4G>F<<.

%555EF><<>EFL <EG<E?ONFEO 6 : D./(F ><), D./><, D./F <?< D./G .

� EFDG>FGDG E555EF><<>EF< 6E>4OF ?5D5<5==O5 < ?>EF>O==O5 D4EE>4O.

� ?5D5<5==O< >F=>EOFEO D4EE>4O, E6O74==O5 E D45>F>= �% < D4EEG<FO645<O5 =4 1 >< ?D>5574. �
F4><< D4EE>44< >F=>EOFEO 74FD4FO =4: F>??<6> < M>E??G4F4F<>==O5 <4F5D<4?O, F5E=<G5E>>5 >5E?G6<64=<5 <
D5<>=F, 4<>DF<74F<>==O5 >FG<E?5=<O, 74FD4FO =4 D5<>=F < ?D<>5D5F5=<5 L<= < F.?.

� ?>EF>O==O< >F=>EOFEO D4EE>4O, D4EEG<FO645<O5 =4 >4?5=44D=>5 6D5<O ?D55O64=<O �% 6 �&�.

(&4><5 D4EE>4O =5 746<EOF >F F>7>, 745 =4E>4<FEO �&%: =4 ?<=<<, 6 ?4D>5 <?< D5<>=F5). � ?>EF>O==O<
D4EE>44< >F=>EOFEO 74FD4FO =4 E>45D64=<5 F5DD<F>D<< < 744=<= �&�, E>7O=EF65==O5 D4EE>4O, =4?>7< <
E5>DO, 74FD4FO =4 74D45>F=GN ??4FG G?D46?5=G5E>>7> 4??4D4F4 < F. ?.



%555EF><<>EFL ?5D56>7>> >?D545?O5F F4D<DO =4 ?5D56>7><.

&D4=E?>DF=O<< F4D<D4<< =47O645FEO E<EF5<4 F5=, ?> >>F>D>= 67<<45FEO ??4F4 74 ?5D56>7><.

%=<65=<5 E555EF><<>EF< ?5D56>7>> 6?5GUF E=<65=<5 F4D<D>6 <, ?D<6?5G5=<O 4>?>?=<F5?L=OE >?<5=F>6.

�E=>6=O5 <5F>4O E=<65=<O E555EF><<>EF< 74>?NG4NFEO 6:

-?>6OL5=<< ?D><76>4<F5?L=>EF< �% 74 EG5F G65?<G5=<O >>?<G5EF64 7DG74, ?5D56>7<<>7> 74 >4=G
574>G;

-E>>D4M5=<O =5?D><76>4<F5?L=OE ?D>EF>56 < E>?>EFOE ?D>557>6;

-?>6OL5=<O E>>D>EF< 46<65=<O;

-M>>=><<< F>??<64;

-<E?>?L7>64=<O 5>?55 =>6>7> < E>65DL5==>7> �%;

-G<5=LL5=<O =4>?44=OE D4EE>4>6;

-E>>D4M5=<O 6E?><>74F5?L=>7> ?5DE>=4?4 �&�.

�DG7>6O5 F4D<DO 6>7<5M4NF 74FD4FO =4 FD4=E?>DF<D>64=<5 ?D>4G>F<< ??NE ?D<5O?L ?5D56>7G<>4.

$47<5D ED54=5= F4D<D=>= EF46>< >?D545?O5FEO <7 E>>F=>L5=<O
& = % + � ,

745 % — E555EF><<>EFL ?5D56>7>>; � — ?D<5O?L ?5D56>7G<>4.

�4 AT =4<5>?LL55 D4E?D>EFD4=5=<5 ?>?GG<?< E?54GNM<5 EE5<O D>D<<D>64=<O 7DG7>6OE F4D<D>6.

�>6D5<5==O5 F4D<DO <E?>?L7GNFEO ?D< ?D54>EF46?5=<< >?<5=FG �% =4 >?D545?5==>5 6D5<O, >>744
=56>7<>6=> >?D545?OFL >>?<G5EF65==O5 E4D4>F5D<EF<>< ?5D56>7>>.

%F46>4 F4D<D4 D4EEG<FO645FEO 74 1 G,(DG5/G) < 746<E<F >F F<?4 �%.

�D< =57=4G<F5?L=>< 6D5<5=< <E?>?L7>64=<O �% GEF4=46?<645FEO <<=<<4?L=4O ??4F4 74
?D54>EF46?5=<5 �&%.

�>><?><5FD>6O5 F4D<DO ?D54GE<4FD<64NF >??4FG 6 746<E<<>EF< >F <>45?< < F<?4 �% <EE>4O <7
65?<G<=O ?D>5574. �E?>?L7G5FEO ?D< 6O?>?=5=<< <564G7>D>4=<E < <564G=4D>4=OE ?5D56>7>>.

%F46>4 F4D<D4 D4EEG<FO645FEO 74 1><(DG5/><) ,

%45?L=O5 F4D<DO <E?>?L7GNFEO, >>744 <<55FEO 6>7<>6=>EFL F>G=>7> GG5F4 >5N5<4 ?5D56>7<<>7>
7DG74. %F46>4 E45?L=>7> F4D<D4 746<E<F >F D4EEF>O=<O, >5NU<4 < >?4EE4 ?5D56>7<<>7> 7DG74.



4.4 �>>G<5=F4?L=>5 >D>D<?5=<5 ?5D56>7>< 7DG7>6.
�D< 6O?>?=5=<< 7DG7>6OE ?5D56>7>> =4 >464>5 �&% >D>D<?ONFEO E?54GNM<5 4>>G<5=FO: ?GF56>=

?<EF; F>64D=>-FD4=E?>DF=4O =4>?44=4O (&&�).
�GF56>= ?<EF

�GF56>= ?<EF O6?O5FEO >E=>6=O< ?5D6<G=O< 4>>G<5=F>< >?D545?ONM<< ?>>474F5?< D45>FO &% <
6>4<F5?O, =4G<E?5=<< 74D45>F=>= ??4FO 6>4<F5?N < D4EG5F4E 74 ?5D56>7><. �4 ?GF56OE ?<EF4E
?D>EF46?O5FEO LF4<? <?< ?5G4FL 6?445?LF4 &%. �4?>?=5=<5 ?GF56>7> ?<EF4 ?D><76>4<FEO 4> 6O5744 =4
?<=<N < ?>E?5 6>76D4M5=<O &% 6 �&�.

� ?GF56>= ?<EF 74?>?=ONFEO E6545=<O > 6>4<F5?5, < 46F><>5<?5, > 6D5<5=< =4G4?4 < >>>=G4=<O
D45>FO, > 74>47G<>5 ?5D56>7>>, 44F4 6O44G<, ><?><5FD46 < 46<65=<5 7>DNG57>.

� ?GF56>= ?<EF 4>?6=O 5OFL ?>EF46?5=O ?>4?<E< 4<E?5FG5D4, ?>4F65D644NM4O ?D46<?L=>EFL
74?>?=5=<O < =4?<G<O G 6>4<F5?O 6>4<F5?LE>>7> G4>EF>65D5=<O, <54<F<=E>>7> D45>F=<>4 > 6>7<>6=>EF<
4>?GE>4 6>4<F5?O > G?D46?5=<N &%, <5E4=<>4 >5 <E?D46=>EF< &%, 6>4<F5?O, > ?D<=OF<< &% 6 F5E=<G5E><
<E?D46=>< E>EF>O=<< < ?>?GG5=<< 7444=<O =4 D45>FG. �4==O5 6 ?GF56>= ?<EF 74=>EOFEO 4>?6=>EF=O<<
?<F4<< �&� – 4<E?5FG5D><, F5E=<>>< ?> &%� < 4D.

�>E?5 E44G< 6>4<F5?5< ?GF56>7> ?<EF4 4<E?5FG5D 74?>?=O5F 44==O5 > 6O?>?=5==>= D45>F5 6>4<F5?5<
< 46<65=<< 7>DNG57>. �>4<F5?L E6>5= ?>4?<ELN G4>EF>65DO5F E44GG �% <5E4=<>G 6 F5E=<G5E>< <E?D46=><
E>EF>O=<<. �F65FEF65==>EFL 74 ?D46<?L=>5 74?>?=5=<5 ?GF56>7> ?<EF4 =5EGF DG>>6>4<F5?< �&� < ?<F4
>F65FEF65==O5 74 M>E??G4F4F<N �%. �GF56O5 ?<EFO ED4=OFEO 6 �&� 6<5EF5 E &&�. �?O >>=FD>?O 46<65=<O
?GF56OE ?<EF>6 6545FEO E?5F<4?L=O= 6GD=4?.

&>64D=>-FD4=E?>DF=4O =4>?44=4O
&&� ?D54EF46?O5FEO ?5D56>7G<>G 7DG7>>F?D46<F5?5< < O6?O5FEO >E=>6=O< 4>>G<5=F>< 4?O E?<E4=<O

7DG74 7DG7>>F?D46<F5?5< < >?D<E>4>64=<O 57> 7DG7>?>?GG4F5?5<.

�DG7>>F?D46<F5?L >D>D<?O5F >F45?L=GN &&� 4?O >464>7> 7DG7>?>?GG4F5?O < 6O?<EO645F 6 G5FOD5E
M>75<??OD4E. �5D6O= >EF45FEO G 7DG7>>F?D46<F5?O, 6F>D>= E445FEO 7DG7>?>?GG4F5?N, FD5F<= < G5F65DFO=
?>EFG?4NF 6 �&�. �>E?5 6O?>?=5=<O D4EG5F>6 ?> 6O?>?=5==O< ?5D56>7>4< FD5F<= M>75<??OD 6>76D4M45FEO
>F?D46<F5?N 7DG74 6<5EF5 E> EG5F>< 74 ?5D56>7>G.
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&>64D=O= D4745? 74?>?=O5FEO 7DG7>>F?D46<F5?5< < E>45D6<F E6545=<O > 7DG75 < ?<F5, >F?GE>4NM5<
7DG7. � FD4=E?>DF=>< D4745?5 &&� ?D<6>4OFEO E6545=<O > ?>7DG7>-D477DG7>G=OE >?5D4F<OE < ?>>474F5?<
D45>FO &%.
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7>EG44DEF65==O= =><5D &%, 44==O5 > 6>4<F5?5 < =><5D ?GF56>7> ?<EF4. �D< ?>?GG5=<< 7DG74 6>4<F5?L
?>?GG45F FD< M>75<??OD4 &&�, 7465D5==O5 ?>4?<EO<< < ?5G4FO<< 7DG7>>F?D46<F5?O < ?>4?<ELN 6>4<F5?O.

�D< E44G5 7DG74 ?>?GG4F5?L EF46<F 6 &&� E6>N ?>4?<EL < ?5G4FL. � E?GG45 ?5D57DG7>< 7DG74 6 ?GF<
E?54>64=<O =4 4DG7>5 &% 6 &&� 74?<EO64NFEO =>6O5 44==O5 < 7465DONFEO ?>4?<ELN D45>F=<>4,
DG>>6>4OM<< ?5D57DG7>>=. � 746<E<<>EF< >F 6<44 ?5D56>7<<OE 7DG7>6 > &&� <>7GF ?D<?474FLEO < 4DG7<5
E>?D>6>4<F5?L=O5 4>>G<5=FO.
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2.�4=F5 E4D4>F5D<EF<>G E<EF5<O F5E=<>>-M>E??G4F4F<>==OE ?>>474F5?5= >F5=>< E>EF>O=<O <
<E?>?L7>64=<O 46F><>5<?L=>7> ?4D>4.

3.�4> 6?<ONF M>E??G4F4F<>==O5 D4>F>DO =4 ?D><76>4<F5?L=>EFL ?>46<6=>7> E>EF464?
4.�5D5G<E?<F5 ?>>474F5?< <E?>?L7>64=<O ?>46<6=>7> E>EF464, ?D<654<F5 ?>DO4>> <E D4EG5F4.

5.�47>6<F5 6<4O <4DLDGF>6, 4>EF><=EF64 < =54>EF4F>< >D74=<74F<< ?5D56>7>> ?> D47=O<
<4DLDGF4<.

6.�4=F5 E4D4>F5D<EF<>G >>?LF56O< <4DLDGF4<. �D<654<F5 ?>>474F5?< <E?>?L7>64=<O ?>46<6=>7>
E>EF464 =4 >>?LF56OE <4DLDGF4E.

7.�4=F5 E4D4>F5D<EF<>G D476>7>G=>-E5>D>G=O< <4DLDGF4<. �D<654<F5 ?>>474F5?< <E?>?L7>64=<O
?>46<6=>7> E>EF464 =4 D476>7>G=>-E5>D>G=OE <4DLDGF4E.
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9.�D<654<F5 E<EF5<O < EE5<O ?>EFD>5=<O F4D<D>6 =4 46F><>5<?L=O5 ?5D56>7><.

10.'F> ?D54EF46?O5F E>5>= E<EF5<4 G?D46?5=<O 46F>FD4=E?>DF=>= >D74=<74F<5=?
11.�4>>6O DG=>F<< E?G65O M>E??G4F4F<< ?> G?D46?5=<N FD4=E?>DF=O< ?D>F5EE><

46F>FD4=E?>DF=>= >D74=<74F<<?
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6>4<F5?O =4 ?<=<<?
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46<65=<O?
16. %555EF><<>EFL 46F><>5<?L=OE ?5D56>7>> < 5U EFDG>FGD4.

17. �DG7>6O5 F4D<DO =4 46F><>5<?L=>< FD4=E?>DF5.

18. �>>G<5=F4?L=>5 >D>D<?5=<5 ?5D56>7>< 7DG7>6.
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$47D45>FG<>: 4>F5=F  >4D54DO -�� < &� %4?4EGF4<=>6 �.$. 
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557>?4E=>EFL 46<65=<O

�5>F<O  75
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�5>F<O 5. �?4EE<D<>4F<O 7DG7>6 < 7DG7>6OE 46F><>5<?L=OE ?5D56>7>>
�==>F4F<O. � 44==>< D4745?5 D4E>DO64NFEO 6>?D>EO > 7DG74E, >?4EE<D<>4F<< 7DG7>6OE

46F><>5<?L=OE ?5D56>7>> < ?D<6>4<FEO F5E=>?>7<G5E><= ?D>F5EE ?5D56>7>< 7DG7>6.

�?NG56O5 E?>64. �DG7O, FD4=E?>DF=4O F4D4, FD4=E?>DF=O= ?D>F5EE, ?>7DG7>4 �%, ?5D5<5M5=<5 7DG74,
D477DG7>4 �%.

�5F>4<G5E><5 D5>><5=44F<< ?> <7GG5=<N F5<O. �7GG<FL F5>D5F<G5E>GN G4EFL E >?D545?5=<O<< <
>E=>6=O<< ?>=OF<O<<. �F65F<FL =4 6>?D>EO 4?O E4<>>>=FD>?O, <7GG<FL < GE6><FL 7?>EE4D<=, D47>5D4FL
E?<E>> E>>D4M5=<= ?D<654U==O= 6 >>=F5 ?5>F<<. �>?D>EO 6>7=<>L<5 ?D< <7GG5=<< 44==>= F5<O <>6=>
5>?55 ?>4D>5=> D4EE<>FD5FL 6 ?5D6><EF>G=<>4E <E?>?L7>64==OE <=D>D<4F<>==OE D5EGDE4E.

&5<4F<>4 74=OF<=
5.1 �?4EE<D<>4F<O < 6<4O 7DG7>6
5.2 &D4=E?>DF=4O F4D4
5.3 �?4EE<D<>4F<O 7DG7>6OE 46F><>5<?L=OE ?5D56>7>>
5.4 &5E=>?>7<G5E><= ?D>F5EE ?5D56>7>< 7DG7>6

�?>EE4D<= > ?5>F<< 75
�DG7 - ?D54<5FO <?< <4F5D<4?O ?D<=OFO5 > FD4=E?>DF<D>64=<N.

&O65?>65E=O= 7DG7 - 7DG7 >>F>DO= 6O7O645F ?D56OL5=<5 >4=>7> <7 ?4D4<5FD>6 ?> D47D5L5==>=
<4>E<<4?L=>= <4EE5 �% <?< >E56O< =47DG7>4<.

�DG?=>7454D<F=O= 7DG7 - 7DG7 >>F>DO= 6O7O645F ?D56OL5=<5 >4=>7> <7 ?4D4<5FD>6 ?> ?D545?L=O<
7454D<F=O< D47<5D4< �%.

�?<==><5D=O= 7DG7 - 7DG7 >>F>DO= 6OEFG?45F 74 744=<= 5>DF 5>?55 G5< =4 2 <.

&5E=>?>7<O 7DG7>6OE ?5D56>7>> — E>6>>G?=>EFL ?D<5<>6 < E?>E>5>6 6O?>?=5=<O ?D>F5EE4
4>EF46>< 7DG74 ?>FD55<F5?N.
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5.1 �?4EE<D<>4F<O < 6<4O 7DG7>6
�5>5E>4<<>EFL ?5D5<5M5=<O >><<5DG5E>>7> F>64D4 >F <5EF4 ?D><76>4EF64 > <5EFG ?>FD55?5=<O

>?D545?O5F F>, GF> =5>>F>D>5 6D5<O F>64D O6?O5FEO 7DG7><. '<EFO= 65E 7DG74 =47O645FEO =5FF>, 65E E F4D>= –

5DGFF>.

�DG7 - <4F5D<4?L=O5 F5==>EF< < F>64DO E <><5=F4 ?D<=OF<O > FD4=E?>DF<D>6>5 G 7DG7>>F?D46<F5?O 4>
<><5=F4 E44G< 7DG7>?>?GG4F5?N. �DG7 >5?4445F DO4>< <=4<6<4G4?L=OE E6>=EF6, >>F>DO5 6?<ONF =4
>E>55==>EF< 57> ?5D56>7><, ?5D57DG7>< < ED4=5=<O. %>6>>G?=>EFL F4><E GE?>6<=, >55E?5G<64NM<E
>4G5EF65==GN ?5D56>7>G, =47O645FEO FD4=E?>DF=>= E4D4>F5D<EF<>>= 7DG74.

�E=>6=O< D4>F>D><, 6?<ONM<< =4 F5E=>?>7<N FD4=E?>DF<D>6>< 7DG74, O6?ONFEO D<7<>>-E<<<G5E><5
E6>=EF64 7DG74. �=< >?D545?ONF 6<4 F4DO < ?>46<6=>7> E>EF464, ?>7DG7>G=>-D477DG7>G=O5 D45>FO, D56<<
ED4=5=<O, 4 F4>65 <5DO 557>?4E=>EF< ?D< ?5D56>7>5.

�4 >464>< 6<45 FD4=E?>DF4 EGM5EF6G5F E6>O >?4EE<D<>4F<O 7DG7>6.
1. �4EE>6O5 7DG7O - 7DG7O, >F?D46?O5<O5, >4> ?D46<?>, 5>?LL<<< >5N5<4<<, >55E?5G<64NM<<<

?>?=GN 747DG7>G ?>46<6=>7> E>EF464. $47?<G4NF E?54GNM<5 6<4O <4EE>6OE 7DG7>6:

• =4EO?=O5 < =464?>G=O5 7DG7O. �4==O= 6<4 7DG74 ?5D56>7<FEO 557 F4DO 6 >F>DOF>< ?>46<6=><
E>EF465. � =4EO?=O< 7DG74< >F=>EOFEO 6 >E=>6=>< 75D=> < E5<5=4 6E5E 6<4>6 E5?LE>>E>7O=EF65==OE
>G?LFGD; > =464?>G=O< - G7>?L, ?5E>>, 7D46<=, >4<5=L, DG44 < 4D.;

• =4?<6=O5 7DG7O. �<4><5 7DG7O ?5D56>7OFEO 6 E?5F<4?<7<D>64==>< ?>46<6=>< E>EF465 (F<EF5D=4E,
=4?<6=OE F4=>5D4E) < FD55GNF E?>6=>= ?>7DG7>G=>-D477DG7>G=>= F5E=<><. � 44==><G 6<4G 7DG7>6 >F=>EOFEO
D47?<G=O5 =5DF5?D>4G>FO;

• EFD><F5?L=O5 <4F5D<4?O. � 746<E<<>EF< >F E4D4>F5D4 < <E >4G5EF64 <>7GF ?5D56>7<FLEO 6 >DOF>< <?<
>F>DOF>< ?>46<6=>< E>EF465. � 44==><G 6<4G 7DG74 >F=>EOFEO D47?<G=O5 <745?<O <7 45D564 < 65?57>55F>=4,
><D?<G < 4D.

2. �5=5D4?L=O5, <?< F4D=>-LFGG=O5, 7DG7O. �4==O= 6<4 7DG7>6 ?5D56>7<FEO G?4>>64==O< 6 >DOF><
?>46<6=>< E>EF465. � 746<E<<>EF< >F 6<44 G?4>>6>< D47?<G4NF 7DG7O:

• <5L>>6O5 - 6 <5L>4E G?4>>6O64NF 7DG7O, =5 FD55GNM<5 74M<FO >F <5E4=<G5E><E ?>6D5645=<=;

• ><?>6O5 - 6 ><?O < FN>< G?4>>6O64NF 5EF5EF65==O5 < <E>GEEF65==O5 6>?>>=4 < <745?<O <7 =<E; 6
FN>4E ?5D56>7<FEO =5?D5EE>64==O= <4F5D<4?, 4 6 ><?O ?D5EEGNF E?>?>> < 46GF;



• >4F=>-5>G>>6O5 - 7DG7O, G?4>>64==O5 6 5>G>4E-54D454=4E <?< DG?>=O; 6 <5F4??<G5E><E 5>G>4E
?5D56>7OF 7>DNG<5 6<4>>EF< (F>??<6>, E<47>G, D4EF6>D<F5?<), 6 45D56O==OE - EGE<5 E<<<G5E><5 < ?<M56O5
?D>4G>FO;

• OM<>>6O5 - 7DG7O, G?4>>64==O5 6 OM<><, F<?>D47<5DO >>F>DOE D57?4<5=F<D>64=O ��%&><;

• ?4>5F=O5.

� D<7<G5E><< E4D4>F5D<EF<>4< 7DG74 >F=>EOFEO: 4?<=4, L<D<=4, 6OE>F4, 4<4<5FD, >E=>6=>= <5D>=
?<=5==OE D47<5D>6 O6?O5FEO <5FD. �E=>6=>= 54<=<F5= <7<5D5=<O >5N5<4 O6?O5FEO >G5<G5E><= <5FD, 4 =4
<>DE>>< FD4=E?>DF5 - D57<EFD>64O F>==4 (2,83 <3).

� 746<E<<>EF< >F D<7<G5E><E D47<5D>6 LFGG=O5 7DG7O F4>65 ?>4D4745?ONFEO =4:

• =57454D<F=O5;

• FO65?>65E=O5;

• ?57>>65E=O5.

�5N5<O, >?D545?ONM<5, > >4>>= >4F57>D<< >F=>E<FEO 44==O= 7DG7, =4 D47?<G=OE 6<44E FD4=E?>DF4
D47?<G=O5. &4>, FO65?>65E=O< 7DG7>< =4 46<4 FD4=E?>DF5 EG<F45FEO F4>>= 7DG7, <4EE4 >4=>7> <5EF4 >>F>D>7>
?D56OL45F 80 >7, =4 6>4=>< - E6OL5 1 F, =4 46F><>5<?L=>< - E6OL5 3 F. � ?57>>65E=O< >F=>EOFEO, >4>
?D46<?>, F5 7DG7O, 1 F <4EEO >>F>DOE 74=<<45F >5N5< 5>?55 2 <. �57454D<F=O<< =47O64NFEO 7DG7O, D47<5DO
>>F>DOE 6OE>4OF 74 ?D545?O 7454D<F>6 ?>46<6=>7> E>EF464.

3. �E>5>D56<<=O5 7DG7O - 7DG7O, >>F>DO5 ED4=OF < ?5D56>7OF ?D< GE?>6<< E>5?N45=<O E?5F<4?L=>=,
EFD>7> GEF4=>6?5==>= F5E=>?>7<<. � 44==>= 7DG??5 >F=>EOFEO >?4E=O5 7DG7O, E>>D>?>DFOM<5EO 7DG7O,
6<6>= E>>F < EODO5 6<6>F=O5 ?D>4G>FO.

�6F><>5<?L=O< FD4=E?>DF>< ?5D56>7<FEO L<D>>4O =><5=>?4FGD4 EGM5EF6GNM<E 7DG7>6. �F 6<44 7DG74
746<E<F F<? <E?>?L7G5<>7> 4?O ?5D56>7>> �%, �$� < F5E=>?>7<O ?5D56>7>>.

�5D56>7>4 75=5D4?L=OE 7DG7>6
�5=5D4?L=O5 7DG7O — D4EEO?=O5 <?< G?4>>64==O5 F>64DO, 4 F4>65 ?D>4G>F<O, =G644NM4OEO 6

G>DG?=5==OE 7DG7>6OE <5EF4E. �5D56>7OFEO ?N5O< 6<4>< FD4=E?>DF4 — 46F><>5<?L=O<, <>DE><<,
6>74GL=O<, 65?57=>4>D>6=O<. �>7GF 5OFL ?D54EF46?5=O <5F4??>?D>4G>F<5=, ?>46<6=>= F5E=<>>=, ���,
>DG?=>7454D<F=O<<, FO65?>65E=O<<, F4D>-LFGG=O<<, ?4>5F<D>64==O<<, >4F=>-5>G>>6O<< < ?5E=O<<
7DG74<<.
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?5D56>7<<O5 >4=<< FD4=E?>DF=O< ED54EF6>< < 6 >4=>< =4?D46?5=<<, ?D54=47=4G5==O5 4?O D47=OE
?>?GG4F5?5=.

�57454D<F=O5 < FO65?>65E=O5 7DG7O
�57454D<F=O5 < FO65?>65E=O5 7DG7O — >5N5>FO, GL< <4EE4 < D47<5DO ?D56OL4NF ?D545?L=>

4>?GEF<<O5 =>D<O, D57?4<5=F<D>64==O5 �D46<?4<< ?5D56>7>>. &D4=E?>DF<D>6>4 F4><E 7DG7>6 FD55G5F
D47D45>F>< <=4<6<4G4?L=>7> <4DLDGF4, E>5?N45=<O FD55>64=<= <=EFDG>F<=, GE?>6<= D47<5M5=<O <
>D5??5=<O, =4?<G<O E?5F<4?L=OE D47D5L5=<=. � 44==GN 7DG??G 6E>4OF 4>D>6=>-EFD><F5?L=4O, 7GE5=<G=4O
< E?5FF5E=<>4, ?D><OL?5==>5 >5>DG4>64=<5 < GEF4=>6><, M?5<5=FO FDG5>?D>6>4>6, <>EF>6O5 ?D>?5FO,
E?5F<D<G5E><5 >>=EFDG>F<<.

�?4E=O5 7DG7O
�?4E=O5 7DG7O — <4F5D<4?O < 65M5EF64, FD55GNM<5 E>5?N45=<O >E>5OE <5D ?D54>EF>D>6=>EF< ?D<

?5D56>7>5, >>F>DO5 <>7GF E>74464FL G7D>7G 4?O 74>D>6LO < 6<7=< ?N45=, E>ED4==>EF< >>DG64NM5= ED54O <
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